&

MASTER TECH & SYSTEMS CO., LTD.
usun nataasina usud Satdud sfa

2025

CATALOG

- Mold Components
(Standard & Customizable)

e Grinding round bars

e Special Steel

FudounuGuw
IKANINSQDIAY i
IKANIFYSUY@IANISISU - |
s |
mi
- Ii
; AR
‘.f l
» —= f;,-'mv::;-b'.i}‘
= ..anﬁ,w"\

o |
@® 02-756-0000 @ vostertech ) emts-th



Contents

disucy

Knuda:lhauwuwwalradn

Standard Components for Plastic Mold

1-

Guide Pins

59

danyndlun

danurdlunanenou

danundiun

danin

GPA

P2

GPB

P2

GPJL

P3

GPOL

P3

|

Guide Pins Guide Pins Guide Bushes Guide Bushes
danyn dandndiun Yaanurfiun Uasniilaifiun
GPSL P4 | GPHL P4 | BA / GBAM P5 | BB / GBBM P5

Guide Bushes

o A o ‘D’ L
UYaanuduIUULTaIUINU

Guide Bushes

o 1 o 90’ s
Yaanirldfivwuulisesingiu

L ] 'il
Oil Free Guide Bushes
Yasniilsildviiuiiua

Oil Free Guide Bushes
Uaenilafldviaiulsisiua

GBHE

P6

GBSE

P6

GBHDZ

P7

GBSDZ

P7

Ejector Guide Bushes

Uaanidiamad

Ejector Guide Bushes

Uaanidiiamas

Ejector Guide Bushes

Uaanidiiamas

Oil Free Ejector Guide Bushes

Uaantididamaslaildundy

EGBH

P8

EGB

P8

EGBN

P9

EGBZ

P9

Ejector Guide Pins

a e & a
Sdamasindnu

Ejector Guide Pins

a e & a
lamasinAnu

Ejector Guide Pins

a e & a
fdamaslndnu

Ejector Guide Pins

a e & a
Sdamasindnu

EGH

P10

EGHC

P10

EGPP

PN

EGPD

PN

©

-4

MTS

MASTER TECH & SYSTEMS

0 MasterTech @ @mts-th

www.mastertechandsystems.com

| Q 02-756-0000



nudad:lkauwuwwanaan
Standard Components for Plastic Mold

Contents

disucy

1-59

g s —

Bolts For Ejector Plate Support Pillars Support Pins Support Pins
aandvsuyauduwandunszie | wndnwwesn Funosniy Funwasniiu
EPB P12 | SPL P12 | SPP P13 | SPP-OC P13

Stop Ring / Stop Pin
wuafaU / afauiy

Return Pins
I3 v o/
LUNNTEINNAU

Angular Pins
uaenau

Angular Pins
waInaINY

STR / STPN

P14

RPH / RP8TH

P14

AP

P15

APU

P15

Leader Pins For Rubber Mold Leader Pins For Rubber Mold Leader Bushes For Rubber Mold

ﬁ

Ejector Pins

aanunuslnunens

dandnusinunens

Yaaniusinuens

Waunszite SKD61

GMT

P16

GMR

P16

GMB

P17

EPN / EPJ / EPS

P18

e e e e H)

Ejector Pins

WWanszif SKH51

Ejector Pins
WWunszife SKH51

Ejector Pins
Wunszie SCM

Ejector Pins

< 4
LWunszis

EPH / EPHE-B / EPHS

P19

EPHJ / EPHIE / EPHJS

P19

EPCM

P20

Z-EPH-L

P20

Step Ejector Pins
Waunsziedosnay

Sleeve Ejector Pins

Uaannszifa

Flat Ejector Pins
wWunszifewuu SKH51

Flat Ejector Pins

Waunszffawun SKD61

ENS / EJS

P21

ESJ

P22

ERPH / ERJ

P23

ERNX

P24

Q) 02-756-0000

© MasterTech @ @mts-th ‘

www.mastertechandsystems.com

©

MTS

MASTER TECH & SYSTEMS




Contents

disucy

nuda:lrauwuwwalradn

Standard Components for Plastic Mold

Runner Lock Pins

adndanduiuad

IT

v
nIan

Sprue Bushes

o
nIan

RLR / RLRL

SBBP / SBBK / SBBS P26

SBGP / SBGK / SBGS P26

i 1 ©

Sprue Bushes

Sprue Bushes

Locating Rings

Locating Rings

Locating Rings
URIUTDIWIRA

Plain Guide Rails

ndisa

Plain Guide Rails
nAisanuulisesuniu

Waan %iaan WNIUSBEN WNIUTBNEN
SBSM / SBSD / SBSS P27 | SBTM / SBTD / SBTS P27 | LRA P28 | LRB P28
- )
AT L=
’ A
S o™

Taper Pins

oy

LRK

P28

GRS

P29

GRSM P29

TPN / TPNV P30

. w— B

Puller Bolts
wawaasluan

Stop Bolts

anaUluan

Slide Adjustment Plates
uruwanusudlad

Slide Adjustment Plates
wuwanUSudlanuuuiisesingu

PBTN

P31

STBG

P31

SAS P32

SASM P32

]

Slide Locks

Slide Adjustment Plates

unuwanusudlan

Oil Free Slide Units
yadlasoasns

Oil Free Inclined Pin Holders

yadladdniuide ooy

dladaan

SAPZ

P32

SCZN

P33

SCZNP P34

SLLK P34

B MTS

MASTER TECH & SYSTEMS

0 MasterTech @ @mts-th

www.mastertechandsystems.com

| Q 02-756-0000




nudad:lkauwuwwanaan
Standard Components for Plastic Mold

1% W

¢
e

Latch Locks
FrAaALUNUN

disucy

Contents

=

1\l‘ L

Taper Block Sets
yawasuden

Taper Block Sets
g <
Yamaiuasn

Tapered Block Sets
yawmwasudon

DTP

P35

TBS

P36

TBSF

P37

S02

P38

Side Locks

Positioning Straight Block Sets

finAanfLAL NN

FADARILAUILIANW

fiAanALRL NN

PL

P38

TSSB

P39

TSSBN

TTSB

P41

fnAaARLAL LRI

Roller Lock Sets
I3 4
yafonlsalans

Parting Lock Sets

Yan1snhsion

LBJX

P42

MPLK

P43

MLK

P44

PLS / PLL / PLM

P45

Parting Locks

¢ X a
NIINHIaA

Air Jet Valves
A5TUBDINA

Cooling Plugs
g3
9 U

Cooling Plugs

Aansun
S Y

PL / PLO

P46

AV

P46

CL

P47

JWP

P47

Date Inserts

faduanTuil (wuuaaallyla)

Date Inserts

fMBuaniui (wuuaanaldla)

Date Inserts

fuaniui (wuuaaaldld)

Date Inserts

o & P
AIYUBNIUN

bmO

P48

DTO

P48

DTOX

P48

DTBZ / DTEZ

P49

Q) 02-756-0000

© MasterTech @ @mts-th ‘

www.mastertechandsystems.com

©

MTS

MASTER TECH & SYSTEMS




Contents

daisucd

nudad:lrawwuwwanadn
Standard Components for Plastic Mold 1-59

nononono AP

Recycle Mark Mold Shot Counters Mold Shot Counters Mold Shot Counters
Frduenitasvanesluiaa AALUITUIUUUAUN AUUITUIUUUAUN FAUUIUIUULURUA
rRMOO P49 | M-CVPL P50 | M-CVR P50 | M-RCC P50

Mold Shot Counters Shim Plates Fitting Joints Fitting Joints
FtUIUIUULURUN WA UTY Jarans Jariase
M-RCCB P50 [ CS / SS P51 | M-PC P52 | M-PL P52

Fitting Joints Fitting Joints Fitting Joints Fitting Joints

Jaranse Jarans Jarans Jarans
M-POC P53 | M-POCL P53 | M-120KC P54 | M-120KOC P54

B
o it o)

Cooling Joints Cooling Joints Cooling Joints Tapered Screw Conversion Plugs
Jaronaaviaog Jaranaaviaes Jaranaaviaes Jasaulaanaen
JTW / JTWS P55 | JEMF / JEMFR P55 | JEMM / JEMMR P56 | JEFS / JEFSR P56

L-Shaped Swivel Joints L-Shaped Swivel Joints L-Shaped Swivel Joints L-Shaped Swivel Joints
Jasand L Jasiand L dasiafd L Jasand L
LSN P57 | LSNM P57 | LSNF P58 | LSNFM P58

l@\ MTS ‘ © MasterTech  © @mts-th

www.mastertechandsystems.com

| Q 02-756-0000

‘\qp,’ MASTER TECH & SYSTEMS




nudad:Thauwuwwanaan

Standard Components for Plastic Mold

Contents

disucy

L-Shaped Swivel Joints

Jarana L

L-Shaped Swivel Joints

Jarasa L

LSP

P59

LSPM

P59

Q) 02-756-0000

0 MasterTech @ @mts-th

@ M1s

PP MASTER TECH & SYSTEMS

www.mastertechandsystems.com



Contents

daisucd

nuda:Inauuwuwlan:

Standard Components for Press Dies

t suasssua * uuoustmaa

60 - 72

T

vuasssuan

5

saadslawa

Guide Post Sets
Tnalwant

Guide Post Sets
Tnelwasi

Ball Bearing Guide Post Sets Ball Bearing Guide Post Sets

IndlwavivuuuaangnUuwanafin

Indlwariuuuuasngnluwaiaiin

GPS

P61

GPSP P61

GPSB P62

GPBP P62

_ _ tm}' -

-_—‘i

 ——=:cziiT

Straight Punches

Straight Punches

Stripper Guide Pins

Stripper Guide Pins

Wutinse SKD11 Wudnse SKH51 ansuwasindnu ansuasinafiu
PD P63 | PH P63 | SGPH P64 | SGOH P64

High Rigidity Stripper Guide Pins High Rigidity Stripper Guide Pins

ansuwasindiuuuundounsege

ansuwasindiuuuundaunsege

Stoppers For Ball Cages
dhauilaidmiulaangniu

Clamps For Stripper Guide Pins
waauddnsuansulasinany

SGPWS

P65

SGPWH P65

SSTK P66

FCLP P66

ansuiasindyyda

Stripper Guide Bushings

:6‘

Stripper Guide Bushings
an3uieslndyyds

Stripper Guide Bushings
an3uieslndyyds

Stripper Guide Bushings
an3uiasindyyds

SGBA

P67

SGBH

P67

SGBL P67

SGBT P67

ansuasindyuds

Stripper Guide Bushings

Stripper Guide Bushings
anuwaslndyuds

Stripper Guide Bushings
ansuwaslndyuds

Ball Cages
UaangnUuegiliiea / 153u

SGBBW

P68

SGBBS P68

SGBBH P68

MBSH / MBJH P69

@ M1s

\qp,’ MASTER TECH & SYSTEMS

0 MasterTech @ @mts-th

www.mastertechandsystems.com

| Q 02-756-0000




Contents

disucy

nuda:lhawuwuwlan:
Standard Components for Press Dies 60 - 72

Ball Cages Ball Cages Urethanes Urethanes
UaangnUuegilidea / 153u UasngnUunaunios gRmuwisnandivaes (wuuily) gImuwianaudivies (wuusiv)
MBS / MBJ P69 | EMBS P70 | UTH P71 | UTS P71

R
=

Urethanes Urethane Urethane Urethane
gamuwisnaudan (wuuily) YINUUIIINANAT (WUUAY) gamuuey @ / vdes) g3muwiawde (@ / Bwdes)
HUTH P71 | HUTS P71 | UTE / HUTE P72 | UTP / HUTP P72

Q 02-756-0000 © MasterTech @ @mts-th ‘ (@) MTS

www.mastertechandsystems.com

PP MASTER TECH & SYSTEMS




Contents

disucy

KUdQdaUsv
Die Springs

(i

High Deflection Springs

73 -79

dUsedv

High Deflection Springs
au3adiiag

fAUSedidensou

High Deflection Springs

Ultra High Deflection Springs
aUSeddigadou

TR P74

TY

P74 | MRS

P74

SWY P75

—"”
%

Ultra Deflection Springs

aUsednnsou

High Deflection Springs

auUsedunedng

auseddu

Medium Deflection Springs

Medium Deflection Springs
ausedainegou

SWR

P75 | SWS

P76

SWU P75

SWC P76

Yellow Die Springs
ausedmaag

Blue Die Springs
aUSdtRy

ausedung

Red Die Springs

Green Die Springs
ausedilen

SWL

P77 | SWM

P78

SWH P78

SWF P77

Brown Die Springs Black Die Springs

dUsediunng

SUERGIN

SWB P79

SWG

P79

@ MTS

MASTER TECH & SYSTEMS

0 MasterTech @ @mts-th

www.mastertechandsystems.com

| Q 02-756-0000




Contents
aisucy

KUDOHﬂ§
Screws

Eye Bolts Hook (Plate Type) Stripper Bolts Stripper Bolts

a1eluai yiusifian ansuasluant ansuiasluan
CHI P81 | CHP P82 | MSB P83 | MSBL P83

® &®§ o ©

Screw Plugs Tapered Screw Plugs Flat Washer Spring Washer

Uénan Unangimwas unuBuly unuaUseluy
MSW P84 | MSWT P85 | FW P85 | SW#1 P85

Spring Washer Socket Head Cab Screws  Flat Head Socket Cab Screws Nuts

uvuaUIsuan an3uaau angiauaes Waillonfiad

SW#2 P85 | CB P86 | FB P86 | NUT P87
Set Screws Dowel Pins Dowel Pins Ball Plungers

Aavuauila Taaiuuuusiy Taaiuuuuingel BUVGHER

MSWJ P87 | MS P88 | MSTH P88 | BPJ P89

Ball Plungers

anausUI
BSJ P89

o
Q 02-756-0000 @ MasterTech  © @mis-th ‘ (@) MTS

www.mastertechandsystems.com NP MASTER TECH & SYSTEMS




Contents

disucy

Linear Rods

- é,_;’

KusawaduSosu

Silver Steel Rod

Grinding Rod

Grinding Rod

Hardchrome Rod

wandusie SKa wadesie S45C wadesiie SCM440 Wangsalasy S45C
SK4-G P91 | S45C-G P91 | SCM440-G P92 | S45C-HC P92
f/”{
Shaft Centerless Grinding Bar Centerless Grinding Bar
wang1salasy Yyuuds SUJ2 wandestedauaulag SUS303 wandgsteauauLas SUS304
SUJ2-HC P93 | SUS303-G P93 | SUS304-G P94

l«
¢

@

A

MTS

MASTER TECH & SYSTEMS

0 MasterTech @ @mts-th

www.mastertechandsystems.com

| Q 02-756-0000




nudad:lha
LWWUwwanaan
Standard Components for Plastic Mold




Guide Pins
danuldun (GPA)

>

ah %_ _T F=1 (=]
=8 . '
o °F| -
o g Code GPA =
Z-g Material SCM415 ||
o = r
a3 Hardness 58 HRC | 70
g" Order Code D x L N |.:§‘§
GPA 25 x 100 :
Code D D' L H T E
12 12 50 - 200 15 5
i oo [35 ] soom [0 [ 20 |
GPA 20 0020 ™50 1 *99% [Ts0-350 | 25 ]
25 25 50 - 350 30
:g -0.010 gg +0.030 :‘5’ - zgg 2(5) 8
40 0030 757 *0-010 30 Tas0 | a5 10

L ~ 50 55-95 100-130 | 135-160 | 165-220 225 ~
[\ 15 20 25 30 35 40

Guide Pins aanuhiduaovaou (GPB)

T—o02
e — — — —

200
Code GPB [ - —_———te—p L -
Material SuJ2 T
Hardness 58 HRC ~
Order Code d x L x N N | —05 ‘
GPB 25 x 100 x N30 ' L—i
Code d N H T L N
16 'g'ggg 25 | +0.021| 30 6
-0. +0.008 A= £
20 30 35 c c
25 0.020 — o 3 g, g,
30 -0.033 5 +0.025 Ve 5 5
GPB +0.009 10 2 3
35 48 >4 S S
-0.025 S S
40 0.041 55 61 12 S S
50 ' 70 | +0.030 | 76 £ £
60 -0.030 30 +0.011 86 15
-0.049

HUIIKGO  anAdoviiruas:g: N aauaunandouns (s:o: N Juagfiiundiurkudoviiau Plate RUNAANTUAIW)

(@) MTS @ MasterTech  © @mis-th

NP MASTER TCH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Guide Pins
danuidul (GPJIL)

2~3
~ 2 o .
W £
g = "-\
4 _
GPJL ‘ f
Material suJ2 a i L, \/
Hardness 58 HRC ~ 1-k2 E
Order Code D x L x N N L:? D
GPJL 25 x 100 x N20 )
Code D Dms H T E L
8 -0.015 8 +0.012 11 3 40 - 80
10 -0.020 10 +0.006 13 5 4 40 - 80
g -0.020 g +0.015 g :g - ;gg -
< - ‘<
16 0.025 g 0007 M55 6 20-250 | &
2
oL [ a5 ] 00 3 10017 3 T e NE
30 “0.030 5] *0:008 T 8 60 - 400 §
B =]
ig "0.030 ig +0.020 :(5) 10 17000 455000 =
o = oc
50 0.040 75— #0.009 ¢ 12 . 120- 550
-0. +0.024
60 0.030 60 0.0 65 15 200 - 550
-0.050 +0.011
[ ] [ ] — o
Guide Pins aanuh (GPOL)
M £ a 4 52
hY 7,
\ :?." r . :"_ .
\ T N
i
i
Code GPOL ﬂ ‘
[\ EWE] SuJ2 o A
Hardness 58 HRC ~ £
E
Order Code D x L x N - N - _U_S"‘Pi‘_‘E"‘ = £
GPOL 35 x 100 x N30 - L-id - =
Dms L N 3 E1 P2 g'\:goeg
100 14 12
0-60
-0.030 110 120 130
35 -0.035 35 140 150 160 0-80 e s
170 180 190 200 ) 16 14
130 140 0-60 26 24
40 40 +0.020 | 150 160 170 180 190 28 26
GPOL +0.009 | 200 210 220 0-80 3 30 28 ) M16x2.0 32
-0.030 150 0-80 28 26
-0.040 160 170 30 )8
50 50 180 190
200 210 220 230 240 0-100 32 30
250 260 34 32
-0.030 +0.024 | 200 210 220 230 240 30 28
PO -0.050 o0 +0.011 | 250 260 270 280 0-120 32 30 LPAVR ey «Y

Q) 02-756-0000

0 MasterTech @ @mts-th

www.mastertechandsystems.com

O MTS

e

MASTER TECH & SYSTEMS

i

for Plastic Mold

[
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
O
c
O
-—
(%]




>

wn
-
-9
o o
o

o)
O =
a o
29
0
z3
0o
a3
3
—
wn

Guide Pins
aanu (GPSL)

C1 M & a 5°
\ ¥ L
= N\ i
"""" R
Y
Code GPSL | e =1
Material SuUJ2 —
Hardness 58 HRC ~ £
N r
Order Code D x L x N L05
GPSL 30 x 100 x N25 L
Code D Dms L N MxP e E
8 -0.015 8 +0.012 | 40-70 0-40 3
10 -0.020 10 | +0.006 | 40-70 M5 x 0.8 10 4
:; -0.020 ig +0.015 :g - ;gg
-0.025 +0.007 M6 x 1.0 12
16 16 40-200 | . oo p
;‘5’ -0.025 ;‘5) +0.017 :g'zzg M8x1.25| 16
GPSL 30 -0.030 3o | 10008 — =20 M12x1.75| 24
-0.030
35 o 085 35 | 0020 | 100-300 | 0-120
M16x2.0 | 32
40 20.030 | 40 | +0.009 | 100-300 | 0-140 g
50 -0.040 50 100 - 400
60 0030 1 gy | 00240 0h 500 | 27290 | vox2s | 40
-0.050 +0.011
[ ] [ ] — (-] —t ]
Guide Pins aanuiidu (GPHL)
- eme—— : 1oy
ad '{‘
1
Code GPHL x
Material SuJ2 —
Hardness 58 HRC ~ T-02|| 2~3
Order Code D x L x N N 05 ._.E_
GPHL 30 x 100 x N25 L—id
Code D Dms L N H T 3
8 -0.015 8 +0.012 | 30-80 10- 60 11 3
10 -0.020 10 | +0.006 | 30-80 13 L 4
12 -0.020 12 40,015 | —30-200 10 - 80 L’
13 Ay 13 | ooy |30-200 18
16 : 16 : 30- 250 13-80 21
20 ouns [ 20 o [ 030 [ [ ;
GPHL % -0.030 S0 10008 oo 13130 " 8
-0.030
35 0,035 35 | ,0000 | 60-450 | 13-130 40
40 -0.030 40 | +0.009 | 80-500 | 15-200 45 10
50 -0.040 50 100-550 | 17-200 55 12 g
60 -0.030 60 | "99%% | 200-.550 | 20-200 65 15
-0.050 +0.011

O MTS

MASTER TECH & SYSTEMS

o MasterTech @ @mts-th

www.mastertechandsystems.com

Q) 02-756-0000




Guide Bushes
Jaonuhidua BA (GBAM)

i

Order Code d x L
BA 25 x 100

for Plastic Mold

[
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
e
c
O
-
(%]

Code BA / GBAM
Material SuUJ2
Hardness 58 HRC ~

190 1100 L1110 L120 L130 L140 L150
3 10014 12 14 15]15]15] - | - | -
+0.015 .
10 |+0.005| 14 16 15 | 20 [ 20 | 20 | 20| 20
+0.007 5 :
12 18 2 15| 20| 25 | 25 | 25| 25 | 25 ]
13 |+0017] 20 25 15| 20| 25 | 25 | 25| 25 | 25 -
16 |+0006| 25 |+0.017| 30 | 6 |15]20]25]|30]35]30]30]|30]30
18 28 | +0.008 | 33 15| 20| 25 | 30| 35| 35 | 35| 35 | 35| 35
BA 20 | T 30 35 | 8 [15]20]25|30]35|40]40]40]40]|40]|40]40]40] 40
GBAM 25 | o35 1000 40 20| 25|30 35]40]45]50]50]50]50]50]50] 50 | 50 | 50
30 : | a7 20| 25]30]35]40]45]50]55] 60| 60| 60| 60| 60 | 60 | 60 | 60 | 60 | 60
35 | 00|28 : 54 | 10 25|30 35]40] 45| 50| 55| 60| 70| 70]70] 70 | 70 | 70 | 70 | 70 | 70
a0 | o s 61 ; 25| 30| 35|40 45| 50| 55| 60| 70| 80| 80| 80 | 80 | 80 | 80 | 80 | 80
50 : 70 | +0.024 | 76 40| 45| 50| 55| 60| 70| 80| 90| 100 | 100 | 100 | 100 | 100 | 100
60 :g'gig go |T001] go | 12 1l - - -] - |60l 70| 80|90 100|110 120 | 120 | 120 | 120

Guide Bushes uaonunliiiuh BB (GBBM)

L
2
T
Order Code d x L T r-———- -+HH--------
- ]
BB 25 x 100 ¥ : L
|
R ]
Code BB /GBBM -0 A
= D—o.03 3 ]
Y EE] suJ2 / . -
Hardness 58 HRC ~ Lz

L15 L20 L25 L30 L35 L90 L100 L110 L120
8 #0.014| 12 [ oo is|1s|as| - | - | -
10 +0.005 | 14 4 [15]20]20]20]20]20] - | -
+0.007 -
12 18 1520|2525 25| 25 -
13 +0.017 [ 20 g [ 15]20]25]25|25]25]25]25 I N ) ]
16 +0.006 | 25 |+0.017 15| 20| 25]30{35[30]30]30]30
18 28 | +0.008 15| 20| 25|30 [35[35[35] 35 35] 35
BB 20 +0.020 30 6 |15|20]25[30]35]40|40]40]40]40]40]40]40] 40
GBBM 25 +0:007 35 [ 0020 20| 25] 30354045 |50|50[50]50[50]50] 50
30 22 | ool s 20| 25[30|35]40]45]50]55]60]60|60]60] 60 | 60 | 60
35 40,025 |48 20| 25[ 303540 45]|s0]55]60]70[70]70] 70 | 70 | 70
40 +0.009 35 9 | - 2530 35|40 45| s0]s55] 60| 708080 80 | 80 | 80
50 . 70 | +0.024 30| 35|40 |45] 5055 60] 70 80 90| 100 | 200 | 200
60 ¥0.029 ) g | #0011} 11 |- -| -] -|s0|-|60]70]|80|090]100]110] 120
+0.010
0MasterTech @@mts-th l«»

Q) 02-756-0000

B MTS

www.mastertechandsystems.com ‘«p, MASTER TECH & SYSTEMS




Guide Bushes
Jaonuhiduiwuuidsovuiiu (GBHE)

>

=4 §
g 1
o 3 1 w
;L T
a L L]
sr o ::% ;: l i !! ili E
) = Co b et ')
23 L I 1 J
&3 ! —0.01 \J
e o Code GBHE p=24 ;
o [\ EWE] SuUJ2 T 0 : . L=
Hardness 58 HRC ~ —0.2
—0.5
L—0

Order Code d x L
GBHE 25 x 100

L90 L100 L110 L120 L130 L140 L150

8 +0.014 12 +0.015 14 15|15]15] - - - ) )
10 +0.005 14 +0.007 16 5 15120 20) 20| 20] 20
12 +0.017 18 22 1512025 25[25]|25]|25|25] - . - . : . . )
13 +0.006 20 +0.017 25 15120 25)25[25|25]25]| 25
16 25 +0.008 30 6 15]120)25)30(35]30]30] 30 : }
20 +0.020 30 . 35 201 25)30[35[40)40|40|40]40] 40
GBHE 25 +dOO7 35 +0.020 40 3 20125)30(35[40)|45|50|50]|50|50|50] 50 [ 50 | 50 | 50
30 ) 42 +0.009 47 25]130[35)140]45|50]|60|60|60]|60[ 60 | 60 | 60 | 60
35 +0.025 48 ) 54 30[35[(40[45]|50|60[70]|70]| 70 70 [ 70 | 70 | 70
40 +6009 55 60 10 ) 30[35[40| 45|50 |60[70|80)|80) 80 [ 80 | 80 | 80
50 ) 70 +0.024 | 75 . - - - [40][45]|50|60[70|80)90) 100 | 100 | 100 | 100 | 100 | 100
60 :ggii 80 +0.011 86 12 = = = = - |60|70]|80 |90 | 100 | 110 | 120 | 120 | 120 | 120

)

Guide Bushes uaonuhluiiduiuuuidsoouiiu (GBSE)

raj—

1
Nl W
i ARG E — —
B
+ : o - E ‘g
Code GBSE © : m il _&/—‘:’ i l
\ELE SUJ2 o SN
Hardness 58 HRC ~ poal _..ij_ﬁ R
Order Code d x L L33

GBSE 25 x 100

[
8 +0.014 12 0,015 15|15|15] - | - | -
10 +0.005 14 15| 20| 20| 20| 20 | 20
12 18 +0.007 15]20]25]25] 25|25 | |- - |-
13 +0.017 20 6 15[ 20]25[ 25 25 25 T
+0.006 +0.017
16 25 10,008 15| 20| 25| 30| 35| 30 | 30 | 30 -
20 +0.020 30 : 15| 20| 25 | 30 | 35 | 40 | 40 | 40 | 40 | 40 | 40
GBSE 25 10007 35 +0.020 15| 20| 25| 30 | 35 | 40 | 45 | 50 | 50 | 50 | 50 | 50 | 50
30 42 10,000 20| 25|30 35| 40| 45| 50| 60 | 60 | 60 | 60 | 60
35 0025 48 : 8 2530|3540 45|50 60|70 70| 70| 70
40 eis 55 L=15 25303540 45|50 60| 70| 80|80 80 | 80 | 80
50 : 70 +0.024 || st=6 )| | - 30| 35| 40 | 45| 50 | 60 | 70 | 80 | 90 | 100 | 100 | 100
60 039 80 +0.011 "l -]-|-|s50|60|70]|80]90]100] 110|120
+0.010

O,
(@\ MTS @ MasterTech  © @mis-th Q 02-756-0000

.,’ MASTER TECH & SYSTEMS www.mastertechandsystems.com




Oil Free Guide Bushes
Jaonuhlutduuiduh (GBHDZ)

i

d-+1

for Plastic Mold

[
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
e
c
O
-
(%]

Code GBHDZ
Material Brass with graphite T—g.z

Order Code d x L
GBHDZ 25 x 100

L15 L20 L25 L30 190 L100 L110 L120 L130 L150
180 :8.2(1): 1421 +0.015 ig 1-5 ;g ;g 2-0 2-0 z-o
: +0.007 5 )
i: +0.017 ;ﬁ i; 1? ig ig 2_5 2_5 2_5 25 I
+0. -
16 +0.006 +gg;; 30 6 |15]20]25[30]35]30] 30 i
20 410020 30 : 35 20| 25|30 [35]40] 404040 40
GBHDZ 25 40,007 =351 +0.020 |40 g 20/ 25[30[35|40]50|s50[50]50]50] 50
30 2 | o0e 147 25|30 35| 405060 60| 60[60] 60 | 60 | 60
35 10,025 48 ) 54 ] 40 |50|60][70[70]70] 70 | 70 | 70 | 70
40 +0'009 55 60 | 10 ) 20| 50[60[70]80] - [ 80| - | 80 | 80
50 : 70 | +0.024 | 75 R R 60|70 80| - [100] - |100] 100 | 100
60 +0.029 go | 00| g5 | 12 T - -8 -|100]| - |120] - |120
+0.010

Oil Free Guide Bushes Uaanuhlbtsuiuluigun (GBSDZ)

d+1

Code GBSDZ
Material Brass with graphite

Order Code d x L
GBSDZ 25 x 100 ’

T ] e
12 = 18 +0.007
13 +0.017 20 6
+0.006 +0.017
16 25
20 30 +0.008
GBSDz 25 +0.020 35
+0.007 +0.020
30 42
35 3 +0.009 3
40 +0.023 55 L=15
50 . 70 +0.024 £9t=6} i = ) 40| 50| 60 | 70| 80 | 100
+0.029 +0.011 - -
= - 1 12
60 +0.010 80 50 | 60 80 | 100 0
™~
0MasterTech @@mts-th y/

) MTS

www.mastertechandsystems.com ‘«p, MASTER TECH & SYSTEMS

Q) 02-756-0000




Ejector Guide Bushes
Jaonuidwalads (EGBH)

>

QL
o %_ . ::. I
= a - 1 _II =
o = 11 N 1I_Ir
a % = _ : I L Code EGBH
;—,"'g b Material SuJ2
) HRC ~
o;-g 1510;1] 4-90s 3\[:23;% g1oos Hardiess >8 HRC
a3 g 05 ~H Order Code d x ¢
g.. —0.8 EGBH 25 x 15
d S H
10 8 21 18 0 1013 15 20
-0.011
12 10 23 20 10 13
13 10 25 22 0 10 13 15 20 25
16 10 28 25 | -0.013 [ 1013 15 20 25
EGBH 20 10 33 30 1013 15 20 25 30
25 10 38 35 o 13 15 20 25 30
30 15 43 20| o6 13 15 20 25 30
35 20 48 45 20 25 30
40 20 55 52 0 20 25 30
50 20 65 62 | -0.019 25 30

Ejector Guide Bushes UaonuhdiSalnos (EGB)

AL .
=
1 Code EGB
"""" [ — Material SuUJ2
L a—os g Hardness 58 HRC ~
003
Lz L D-pis
Order Code d x L
L+0.2
- = EGB 30 x 42
d L Dhé H L1 L2
10 +0.014 23 16 20 12 11
+0.005 0
-0.011
: o[ [Ele
+0.017 = 2 =
16 &S 32 25 30 14 18
42 0 19 23
25 -0.013 12 12
20 32 20 s 14 18
a2 19 23
52 24 28
e +0.020 25 12 13
25 +0.007 32 35 40 14 18
' 42 19 23
52 0 24 28
32 14 18
30 42 40 -0.016 45 19 23
52 24 28
42 19 23
40 +0.025 52 >0 35 24 28
+0.009 0
50 52 60 | o0 | 66 24 28

(@\ MTS @ MasterTech  © @mis-th

.,’ MASTER TECH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Ejector Guide Bushes
JaonuidwaAlaos (EGBN)

i

[
a 2
[=
2o
Code EGBN 00
[o R
£ Material SuJ2 £ %
Hardness 58 HRC ~ 8 =
- 0
N —0.03 Order d x ¢ = o
RN O .
25 x 20 'g‘_e
o)
(75)
6 H S e
0 25 10 15 20
28 10 15 20
-0.013 33 10 15 20 25
25 35 38 10 15 20 25
0
EGBN 30 20 | o |3 £+8 20 25 30
35 45 ‘ 48 20 25 30
40 52 0 55 20 25 30
50 62 -0.019 65 20 25 30

Oil Free Ejector Guide Bushes

)

Jaonuidwalaaslutduiiu (EGBZ)
L4

Code EGBZ
Material Brass with graphite

Order Code d x L
EGBZ 25 x 38

Dhé

0.013 14 25

20 30 33 19

33

38
24 43
14 25

+0.021
25 35 38 19 33

24 43 53
19 33

EGBZ

30 40 0.016 43 24 23

29 53
38
43
29 53
39 68
24 43
40 55 61 29 53
39 68 8
29 53
39 68

35 45 48

+0.025

-0.019
50 65 71

© MasterTech @@mts-th (@) MTS

www.mastertechandsystems.com N7 MASTER TECH & SYSTEMS

Q) 02-756-0000




>

wn
-
-9
o o
o

o)
O =
a o
29
0
z3
(]
a3
3
—
wn

Ejector Guide Pins
SwALaDSINAwu (EGH)

G C
q M
.I ::::‘_{: "_-:!n'_h i}
o e ::i:l_.lr
: H
Lg% _
Code D MxP e L
ig 0020 e x1.0 12 :g : igg
: 16 -0.025 40- 150
20 40-175
Code EGH 1.2 1

. EGH 25 M8 x1.25 6 50- 250
Material SuJ2 30 0.025 50 - 300
Hardness 58 HRC ~ 35 _0'030 50 : 300
Order Code D x L 40 ' M18& 1.5 20 50-350
EGH 25 x 100 50 50 - 350

Ejector Guide Pins 315a100SInGWu (EGHC)

C C
M
/,— W
et
Lo T _,-j I [
==:::;|__!‘." \\.: Jr'___ £1é
“ = ¢ E
M(;::fial ES(l;JTZC Order Code D x L
Hardness 58 HRC ~ EGHC 25 x100
D MxP e dn7 E Dowel pins L
ig -0.020 M6 x1.0 12 6 +0.012 15 MSTH 6-30 :g : :.gg
16 -0.025 0 40 - 150
20 8 +0.015 MSTH 8-40 50-175
EGHC 25 M8 x 1.25 16 10 0 20 MSTH 10-40 50-250
30 -0.025 13 MSTH 13-50 50-300
35 -0.030 +0.018 50-300
M1 1. 2 2
40 0x1> 0 16 | 0 > | MSTH16:50 | 50-350
50 50-350

S A

@ M1s

MASTER TECH & SYSTEMS

o MasterTech @ @mts-th

www.mastertechandsystems.com

Q) 02-756-0000




Ejector Guide Pins
aALdsInawu (EGPP)

i

A ¢1p13=cos M cl
\— N\

for Plastic Mold

[
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
O
c
O
-—
(%]

15
i L
Code EGPP ’ \ o £
Material SuJ2 ‘@' E‘lL 5 [ p——
Hardness 58 HRC ~ I 16 |_kt= :
Order d X
E((:P: 2Ds x 1(I)-o de7 E—E.? L—l?.ﬂl# {ngm'ﬂbl__gm]
13 -0.016 8 12 40 - 150
16 -0.027 -0.025 50 - 150 M6 x 1.0
20 10 | -0.040 | 15 50 - 150
-0.020 .
EGPP 25| oas 50.150 | ox12
30 G 50 - 300
35 0025 | 20 | 0| 20 50 - 300 M10x 1.5
40 -0.041 ! 90 - 300

Ejector Guide Pins

awALaasinawu (EGPD)

A o1 3= B 1
— W ; ¥ \ -
¢ 7
oW
Code EGPD -7 -:'kD "‘i‘w
Material SUJ2 d e 002 | L—-0os (L2200 L —f0s) | £—02
Hardness 58 HRC ~ — }
# [etails of A : *Details of B
Order Code D x L ,/- e -\'I
EGPD 25 x 100 ' .
> &
die7 d2h7 e
13 -0.016 8 8 12 40 - 150
16 -0.027 -0.025 0 50-150
;g -0.020 10 -0.040 10 -0.015 15 :g - :.;g
EGPD 30 -0.033 50- 300
-0.040 0 -
£ -0.025 20 20 20 SUG00
40 .0.041 -0.061 -0.021 90 - 300
50 ) 90 - 300
>
M Tech -th
Q 02-756-0000 0 asterTec @ @mts-t (@)MM:!:§MS

P

www.mastertechandsystems.com



>

Bolts For Ejector Plate
dandnsusaurWutwaniduns:no (EPB)

EPB 16 51 56 61 66 71 76 81 91 101 111 121 131
20 61 66 71 76 81 91 101 111 121 131 141
25 121 131 141 151 161

10 31 36 41 46 51 56 61

13 31 36 41 46 51 56 61 66 71

Support Pillars iaxdwwoasn (SPL)

4 MXP
L
[e] 16 £§
g3 -4 /
S8
Qo -4 i
20 [/
a9 2
z 3 Material SCM435 C .
o o Hardness 30-35HRC E k@ " A
o Surface Black Oxide, head only 0.1
3 —
& &3
Order Code D x L £
EPB 16 x 81
A B (o 3 F MxP T
10 -0.025 16 6 4 8 16 M8 x 1.25 10.8
-0.061
13 -0.032 18 8 5 10 20 M10x 1.5 14
16 -0.075 24 10 7 14 24 M12 x 1.75 17
20 -0.040 27 14 9 18 32 M16 x 2.0 21
25 -0.092 33 17 11 19 40 M20x 2.5 26

[ M
&
Lheo=o
Code SPL
Material S45C \ .
Surface Black Oxide LE |
+
L1832 a>200-+L183) D02
Order Code D x L
SPL 25 x 100
L
Code D - - Mx P e
5mmincrements 10mm increments
12 40-55 60-100
14 40 - 55 60-120 03
16 40 - 55 60-120 ’ M6 x 1.0 12
18 40 - 55 60-120
20 45 - 55 60 - 150
25 45 - 55 60 - 150
30 50-300
35 50 - 300 0.5
SPL 20 50-300 M8 x 1.25 16
45 50 - 200
50 ) 50 -400
55 50 - 200
60 70 - 400 0.8 M12 x1.75 24
80 70 - 400
100 100 - 200
120 100- 200 1.2 M16 x 2.0 32
“a>>
A\ o MasterTech @ @mts-th
&) MTS 02-756-0000
N7 MASTER TECH & SYSTEMS www.mastertechandsystems.com




Support Pins
swwosnhwu (SPP)

A

L2
o
1~3 & a s32
1 83
o 0 .Y
- /] _ O
Codg SPP - & T2
Material SuUJ2 _g 5
Hardness 58 HRC ~ 5 c -
802 5
Order Code D x L x N N ' @
SPP 25 x 200 x N30 L3
Dfe Dké F H MxP e L
13 -0.016 13 +0.012 12 16 M6 x1.0 12 60-120
16 -0.027 16 +0.001 14 19 M10x 1.5 20 80-210
20 20.020 20 +0.015 19 23 M12 x1.75 24 90 - 300
SPP 25 -0.033 25 +0.002 22 28 100 - 300 8-60
30 ) 30 ) 29 35 M16 x 2.0 32 150 - 350
35 -0.025 35 +0.018 32 40 X< 150 - 350
40 -0.041 40 +0.002 36 45 150 - 350
[ ] [ . - —
Support Pins swwasnwu (SPP-OC)
1~3 g E
|l
o3 /] .
I—-_u—-_uﬁll' } = ﬂ
]
5
y 0
B—n2
N +13
N L+10 -
MC:de: | SZZ-EC Order Code D x L x N
ateria
SPP-OC 25 x 200 x N40
Hardness 58 HRC ~ x [*
F H MxP e L
13 -0.016 13 +0.012 12 16 M6 x 1.0 12 60-120
16 -0.027 16 +0.001 14 19 M10x 1.5 20 80-210 8-30
20 -0.020 20 +0.015 19 23 M12 x1.75 24 90 -300
SPP-OC 25 25 22 28 100 - 300 8-40
-0.033 +0.002
30 30 29 35 M16 x 2.0 32 150 - 350 8-50
35 -0.025 35 +0.018 32 40 ' 150 - 350
40 -0.041 40 +0.002 36 45 150 - 350 8-60
R
0 MasterTech @ @mts-th y/

B MTS

www.mastertechandsystems.com ‘«» MASTER TECH & SYSTEMS

Q) 02-756-0000




Stop Ring / Stop Pin
unduadoU (STR) / aGoUuwu (STPN)

>

@ STR STPN
_hQ
g a
)
Q_Q.
20
23
00
a3 G
=} 16
s Y

) =
10 kb 5" d\‘-‘

16 5.5
STR 20 6.5 3.5 STPN
25 8.5 4.5
Code STR Order Code D Code STPN Order Code
Material S45C STR 25 Material S45C STPN

Return Pins uns:rionau (RPH / RP8TH)

ajc\:' Eg
U ——
= —_— r &
T-82
L-H.l
Code Material Hardness Order Code D x L
RPH 545C 58 HRC ~ RPH 25 x 200
RP8TH SuUJ2 58 HRC ~
Dfe H T L
12 -0.016 17 60 80 100 150 200
15 _0'027 20 100 150 175 200 250 300 350 450
16 ’ 21 100 150 175 200 250 300 350 450
RPH 20 0.020 25 100 150 200 250 300 350 450 500
RPSTH 25 -0.033 30 8 100 150 200 250 300 350 450 500 550
30 35 100 150 200 250 300 350 450 500 550
35 -0.025 40 150 200 250 300 350 450 500 550
40 _0'041 45 200 250 300 350 450 500 550
50 ' 55 200 250 300 350 450 500 550

(@) MTS @ MasterTech  © @mis-th

N7 MASTER TECH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Angular Pins
uovnawu (AP)

i

.
<2, max2 (When D=4~8, Ris 0.5 or less) SR=D/2

[ e /

for Plastic Mold

[
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
e
c
O
-—
(%]

SKD11 60 - 63 HRC 1
10-50 suJ2 58 HRC ~ ; ‘
T—02 N 5
Order Code D x L x N x A - =
AP 25 x 200 x N30 x A15 - Loz -
Code D 115 fé T H S L [\ A
8 +0.012 | -0.013 5 11 4 15-130
10 +0.006 | -0.022 13 5 20-200
12 10 15 6 20 - 250
13 +0.015 | -0.016 16 6.5 20 - 250
15 +0.007 | -0.027 18 7.5 20-250 |
N mrua
AP ;g 13 ;g & ig ;:g owuwuu | 0-30
> +0.017 | -0.020 r 20 - 200 anm
20 +0.008 | -0.033 3 . 50500
22 40,020 | -0.025 | ' 32 igg - ggg
50 +0.009 1 -0.041 /5 55 200- 500

Angular Pins uavnawu (APU)

Dig

G
Code I !le /

Material o |10
Hardness

Order Code D x L x N Lz02 =
APU 25 x 200 x N50

Code D h7 fe M e S 21 W L
10 0 y 013 5 8 7 30-200
-0.015 | -0.022 6 15
i: 0 -0.016 20 665 10 18 :: : izg
16 -0.018 1-0.027 =4 25 8 13 45 - 250
APU - L>N=0
20 0 -0.020 | 12 30 12 17 >0 - 350 =
25 0.021 | -0.033 22 50 - 400
30 ' ' 10 27 60 - 400
2 do Tom| ® | @ | | e
40 -0.0251-0.041 74 40 15 18 36 60 - 450
0 MasterTech @ @mts-th y/ o

B MTS

www.mastertechandsystems.com ‘«p, MASTER TECH & SYSTEMS

Q) 02-756-0000




>

(2]
-+
-9
o o
o

o)
O =
oo
20
0
z3
0o
a3
3
3
wn

Leader Pins For Rubber Mold
dantiuwuwenv (GMT)

3~5" RS05
——F . G
K
o9 Code GMT
E - - 7T Material SCM415
//J =i Hardness 58 HRC ~

[ - Order Code D x N x E

GMT 16 x 19 x 14
N-02 E
L -?:.5

Dme6 \| E d L K°
6 | 1008 — w1 0 [Tsio
+0.007 19 m ™ r
14 28 10
19 33 10
14 24 38 7
GMT 29 43 6
+0.021 34 48 5
20 +0.008 14 45 33 10
19 38 10
19 24 43 7
29 48 6
34 53 5

Leader Pins For Rubber Mold aanuhuwiwuweno (GMR)

C1
Jeuf’ R=0.5
N =2
X e
@ 5& Code GMR
5 - =1=1 =
'L Material SCM415
/ Hardness 58 HRC ~
— Order Code D x N
q~5 5 GMR 16 x 19
D
N—o2 E
i
L—05

16 :g'gcls 10 29 10
SR +0.021 19
20 : 13 30 11
+0.008

o MasterTech @ @mts-th

www.mastertechandsystems.com

@ M1s

UPSY MASTER TECH & SYSTEMS

Q) 02-756-0000



Leader Bushes For Rubber Mold
Jaonuuuwuweanv (GMB)

i

for Plastic Mold

[
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
e
c
O
-
(%]

Codg GMB Order Code D x L
Material SCM415 GMB 16 x 19
Hardness 58 HRC ~
f 3~5"
..... o | I
ol 58 s x
al F¥ L %
h=] X =
10 3~5
B L5 _ - d -

% There is no (d+1) relief machining in the case of L=9

Code Dme6 L d

16 +0.018 194 10
+0.007 19

9

o +0.021 ig 13
+0.008 24

29

GMB

Q) 02-756-0000

PSP MASTER TECH & SYSTEMS

© MasterTech @@mts-th ‘ (@} MTS

www.mastertechandsystems.com



>

(2]
-
-9
o o
o

o)
O =
a o
29
0
z3
0o
a3
3
—
wn

Ejector Pins
wuns:=:No SKD61 (EPN / EPJ / EPS)

X

e —

1 n{Range of guaranteed shaft diameter precison)

R=0.5d=2--R=0.3)

T

—

Code Head Thickness [TE [T

EPN 4 mm (T4) _8'02
-0.01 0

EPJ 6 * 8 mm (JIS) 0.02 005

EPS Special _8_02

+5
L +01

Code

EPN / EPJ / EPS

Material
Hardness

SKD61

40 - 45 HRC /900 HV ~

©

d

Order Code d x L

EPN 2 x 100

EPN EPJ
4mm Head JIS Head
H T H T
1 100 150 200 250
3 11 1.2 1.3 1.4 | 100 150 200
1.5 100 150 200 250
. 1.6 1.7 1.8 1.9 | 100 150 200 250 300
2 100 150 200 250 300 350 400
s ) |21 22 23 24 | 100 150 200 250 300
2.5 100 150 200 250 300 350 400
. 2.6 2.7 2.8 2.9 | 100 150 200 250 300
3 100 150 200 250 300 350 400 450 500
3.1 3.2 3.3 3.4 | 100 150 200 250 300 350 400
; 3.5 100 150 200 250 300 350 400 450 500
| 3.6 3.7 3.8 3.9 | 100 150 200 250 300 350 400
a4 100 150 200 250 300 350 400 450 500 550 600 650 700
8 41 4.2 43 4.4 | 100 150 200 250 300 350 400
) 45 100 150 200 250 300 350 400 450 500 550 600 650 700
4.6 4.7 4.8 4.9 | 100 150 200 250 300 350 400
EPN 4 5 5 100 150 200 250 300 350 400 450 500 550 600 650 700
¢ | 5152 53 54 | 100150 200 250 300 350 400
5 5.5 100 150 200 250 300 350 400 450 500 550 600 650 700
10 5.6 5.7 5.8 59 | 100 150 200 250 300 350 400
6 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
6.1 6.2 6.3 6.4 | 100 150 200 250 300 350 400
10 11 6.5 100 150 200 250 300 350 400 450 500 550 600 650 700
EP) 7 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
11 13 8 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
= 14 9 100 150 200 250 300 350 400 450 500 550 600
15 15 10 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
- 16 11 100 150 200 250 300 350 400 450 500 550 600
17 17 12 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
18 18 | 8 | 13 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
- - 14 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
20 20 15 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 21 21 16 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
25 20 150 200 250 300 350 400 450 500 550 600 650 700 750 800 900 1000
) ) " | 30 25 200 250 300 350 400 450 500 550 600 650 700 750 800 900 1000
EPS
Special Head
=
1 100 150 200 250
4 6 1.1 1.2 13 1.4 | 100 150 200
1.5 100 150 200 250
EPS 5 6 4 1.6 1.7 1.8 1.9 | 100 150 200 250 300
2 100 150 200 250 300 350 400
6 21 2.2 2.3 24 | 100 150 200 250 300
2.5 100 150 200 250 300 350 400
S
MasterTech @mts-th
( ) MTS o @ Q 02-756-0000
NP MASTER TCH & SYSTEMS www.mastertechandsystems.com




Ejector Pins
wuns:No SKH51 (EPH / EPHE-B / EPHS)

i

Code  Head thickness [d

—— | L :
EPH -0.005 2 o
| " i Fangn of guarsmised shalt dametty procsion) EPHEE 4mm (T4) 001 6o
InE -0.02 g—E
n:il 1 } . . I @— EPHS Special -((;.005 8 %
_I \Rgosidsz-age:) -0
[ e L R -4 M(;:::al EPH/E:;:;Bl/EPHS Order Code d x L _'g %'
Hardness 58 - 60 HRC EPHJ 4 x 200 E »
72
Code H T L
0.8 0.9 100 150
3 1 11 12 13 14 100 150 200
1.5 100 150 200 250
4 16 1.7 18 1.9 100 150 200 250
2 100 150 200 250 300
EPH 5 21 2.2 23 24 100 150 200 250
EPHE-B 4 2.5 100 150 200 250 300
6 2.6 2.7 2.8 2.9 100 150 200 250
3 100 150 200 250 300 350
3.1 3.2 33 34 100 150 200 250
7 3.5 100 150 200 250 300 350
3.6 3.7 3.8 3.9 100 150 200 250
4 100 150 200 250 300 350

4 1 100 150 200
EPHS 6 4 2 100 150 200 250
2.5 100 150 200 250

Ejector Pins wuns:riv SKH51 (EPHJ / EPHJE / EPHJS)

Code Head thickness  [d

= EPHJ »goos
n b of teesd shalt dkameter precisioni 6+ 8mm (JIS) -
; B T e 7 ) EPHIE :g:g;
i |
L |-__R._;,,5 : Code EPHJ / EPHJE Order Code d x L
T Material SKH51
L Lk _ -4 Hardness 58 - 60 HRC EPHJ 4 x 200
Code H T d L
4q 100 150 200 250 300
4.5 100 150 200 250 300
9 5 100 150 200 250 300 350
6 5.5 100 150 200 250 300 350
EPHJ 10 6 100 150 200 250 300 350
6.5 100 150 200 250 300 350
EPHIJE 11
! 7 100 150 200 250 300 350
13 8 100 150 200 250 300 350
14 3 9 100 150 200 250 300 350
15 10 100 150 200 250 300 350
17 12 100 150 200 250 300 350

0 MasterTech @ @mts-th l@\ MTS

www.mastertechandsystems.com «p,’ MASTER TECH & SYSTEMS

Q) 02-756-0000




Ejector Pins
wuns:No SCM (EPCM)

>

Code EPCM _l "\ RS05(d52--RS503)
Material SACM 645 T 00 4
Inside Hardness HRC30+2 . B T -
Outside Hardness HV 900 - 1100

wn
-+
-9
o o
o

o)
O =
oo
20
0
z3
(]
a3
3
3
wn

Order Code d x L
EPCM 15 x 150

Code d T L

=

1 3 100 150 200 250
1.5 4 100 150 200 250
2 5 4 100 150 200 250
2.5 6 100 150 200 250
3 100 150 200 250 300 350 400
3.5 7 100 150 200 250 300 350 400
4 3 100 150 200 250 300 350 400
4.5 100 150 200 250 300 350 400
5 100 150 200 250 300 350 400
EPCM 5.5 2 6 100 150 200 250 300 350 400
6 10 100 150 200 250 300 350 400 500
7 11 100 150 200 250 300 350 400 500
8 13 100 150 200 250 300 350 400 500 600
10 15 100 150 200 250 300 350 400 500 600
12 17 3 100 150 200 250 300 350 400 500 600
14 19 100 150 200 250 300 350 400 500 600
15 20 100 150 200 250 300 350 400 500 600
16 21 100 150 200 250 300 350 400 500 600

Ejector Pins wuns:nv (Z-EPH-L)

|
Code Z-EPH-L BT
Material SKH51 T=afn .

Hardness 58 - 60 HRC E R 200- FTE)
L% sop - TE

Order Code P x L x V xG x F
Z-EPH-L 5 x 200.00 x V2.0 x G5 x F195.00

Head thickness or
0
- - +30' +
Z-EPH-L 4mm (T4) -0.005 +30 +0.05
H L v q i F
0.01mm increments 0.5mm increments  1°increments  0.01mm increments

4 2

5 2.5 50.00 - 300.00

6 3

ZEPH-L — 4 . 1.5<V<P 0-45 L-F<10

9 6 50.00 - 350.00

10 7

11 8

(@\ MTS @ MasterTech  © @mis-th

.,’ MASTER TECH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Step Ejector Pins
wuns:=:Noaosvaau (ENS / EJS)

i

2
&
E—e 53
g—E
o.Y
e
R&0S g Step R e
(D=2-»R=03) °©%5 Sz
T ] Q T °
ng 1 UH-
I - | —
:I:T (7]

4l
N-S | (L—N)

+5
L4

=0
| _P-om

Code Head thickness (TR Code ENS / EJS

ENS 4mm (T4) 0 Material SKD61
-0.02 Hardness 40 - 45 HRC /900 HV ~
EJS 6mm (JIS) 0 Order Code D x L x P x N
-0.05 ENS 2 x 200 x P10 x N100
Code ») H T L P N
L5 3 100 0.8 1.0 40 50 60 70
150 | 0.8 1.0 40 50 60 70
100 [0.8 1.0 1.2 1.5 40 50 60 70
2 4 150 [0.8 1.0 1.2 1.5 40 50 60 70 80 90 100
200 |0.8 1.0 1.2 1.5 50 60 70 80 90 100 120
ENS 4 100 1.0 1.2 1.5 1.8 2.0 50 60 70
2.5 5 150 1.0 1.2 1.5 1.8 2.0 50 60 70
200 1.0 1.2 1.5 1.8 2.0 50 60 70 80 90 100 120
100 1.5 1.8 2.0 2.5 50 60 70
3 6 150 1.5 1.8 2.0 2.5 50 60 70
200 1.5 1.8 2.0 2.5 50 60 70 80 90 100 120
150 50 70
4 8 200 1.5 2.0 2.5 3.0 50 70 100 120
250 100 120
150 50 70
EIS 5 9 6 200 3.0 3.5 4.0 50 70 100 120
250 100 120
150 50 70
6 10 200 4.0 50 70 100 120
250 100 120

HUIPIKGO  anAAIuISNAYNNUNadUn uaniklioanfuaisvia

oMasterTech @@mts-th (@\ MTS

www.mastertechandsystems.com

Q) 02-756-0000

’,’MASTER TECH & SYSTEMS




Sleeve Ejector Pins
Jaonns:nv (ESJ)

>

E————

X1 bi{Range of guaranteed shaft diameter precision)

wn
-
-9
o o
o

o)
O =
a o
29
0
z3
0o
a3
3
—
wn

- \H =05 ‘ T V7
T —005 ©$0.06 | p
] (L—S)-3 i 5 _

g ESd Order Code D x L x V
Material SKD61 ES) e 180 Va

Hardness 35-40HRC/900 HV ~

3.5sV<6 6.55Vv<10 V212

-0.01 -0.01 +0.010 +0.012 +0.015 +0.018
-0.02 -0.03 0 0 0 0
Code D H T L \"
. 100 120 140 1.5
8 100 120 140 160 180 200 2 25
nG 100 120 140 1.5
100 120 140 160 180 200 2 25
A 100 120 140 160 180 200 225 2 25 3
¢ 250 275 300 3
aE 100 120 140 160 180 200 225 2 25 3
6 250 275 300 3
6 10 100 120 140 160 180 200 225 250 275 300 2 25 3 35 4
325 350 375 400 425 450 3 35
aE 100 120 140 160 180 200 225 250 275 300 2 25 3 35 4
ai 325 350 375 400 425 450 3 35 4
7 100 120 140 160 180 200 225 250 275 300 2 25 3 35 4 45
£s) 325 350 375 400 425 450 3 35 4 45
- = 100 120 140 160 180 200 225 250 275 300 3 35 4 45
325 350 375 35 4 45
100 120 140 160 180 200 225 250 275 300 2 25 3 35 4 45 5 55
8 13 325 350 375 400 425 450 3 35 4 45 5
475 500( 5
100 120 140 160 180 200 225 250 275 300 2 25 3 35 4 45 5 55
9 14 325 350 375 400 425 450 3 35 4 45 5
. 4755000 5 55 6
10 - 100 120 140 160 180 200 225 250 275 300 325 350 375 400 425 450 4 45 5 6 65 7
4755000 5 55 6 65 7
- 17 100 120 140 160 180 200 225 250 275 300 325 350 375 400 425 450 4 45 5 55 6 65 7 8 85
4755000 5 55 6 65 7 8
15 20 200 225 250 275 300 325 350 375 400 425 450 475 500 9 10
20 25 200 225 250 275 300 325 350 375 400 425 450 475 500| 12 15

100 | 120 | 140 | 160 | 180 [ 200 | 225 | 250 [ 275 | 300 | 325 | 350 | 375 | 400 | 425 | 450 [ 475 | 500
50 (V1.5 - 40) 75 100 115 150

KUIYIKGO  anAAINISNAYNIUNadUn uanikntioanfuaisivia

O,
(@) MTS @ MasterTech  © @mis-th Q 02-756-0000

MASTER TECH & SYSTEMS www.mastertechandsystems.com




Flat Ejector Pins
Wwuns:rivuuu SKH51 (ERPH / ERJ)

>

("]

e

e ———— £
c O
0o
R=05 g g—i
(D=2-R=03) 1 Step R 6.
— (=] =
_ (O B
a vl
o - e - 1 = o
x ~ O .
L] T o
[} C o

o T—002 5

~ N _ —n 8 _ e

LIEJ .

Code ERPH / ERJ

Head thickness P,O0W
ERPH 4mm (T4) 0 Material SKH51

ERJ 6 * 8mm (JIS) -0.01 Hardness 58 - 60 HRC

Order Code D x L x P x W x N
ERPH 2 x 150 x P10 x W0.8 x N50

Code 4mm head JIS head
4mm head JIS head = H T H T L y & A
100

15 3 150 0.8 1.0 1.2| 0.3 0.4 0.5 0.6 40 50 60 70 80
100
2 4 150 1.01.2 15 0.4 0.5 0.6 0.7 0.8 1.0 40 50 60 70 80
200
100
25 5 150 1.5 2.0 0.4 0.5 0.6 0.7 0.8 1.01.215 40 50 60 70 80 90 100
- - - 200
100
3 6 150 2.0 2.5 0.4 0.5 0.6 0.7 0.8 1.01.215 2.0 40 50 60 70 80 90 100 120
200
100
3.5 ;zg 2.5 3.0 0.4 0.5 0.6 0.7 0.8 1.01.215 2.0 40 50 60 70 80 90 100 120
250
100
150 0.4 0.5 0.6 0.7 0.8 0.9 1.01.21.5 2.0 40 50 60 70 80 90 100 120
4 3.0 3.5
200
250
100
4.5 :zg 3.5 4.0 0.6 0.7 0.8 0.91.01.21.51.82.0 2.5 | 40 50 60 70 80 90 100 120
250
100
ERPH 5 4 ;32 4.0 0.6 0.7 0.8 0.9 1.01.21.51.82.0 2.5 | 40 50 60 70 80 90 100 120
250
100
5.5 ;Zg 4.5 5.0 0.8 0.91.01.21.51.82.0 2.5 | 40 50 60 70 80 90 100 120
9 250
150
6 10 200 5.0 0.8 0.91.01.21.51.82.0 2.5 | 40 50 60 70 80 90 100 120
250
150
6.5 200 6.0 0.8 091.01.21.51.82.0 40 50 60 70 80 90 100 120
250
10 11 150
200 0.8 0.91.01.21.51.82.0 2.5 | 40 50 60 70 80 90 100 120 150 180 200
250
300
150
8 11 13 igg 6.0 0.8 0.91.01.21.51.82.0 2.5 | 40 50 60 70 80 90 100 120 150 180 200
300
150
10 15 15 8 :gg 8.0 0.8 0.91.01.21.51.82.0 2.5 | 40 50 60 70 80 90 100 120 150 180 200
300
150
- 12 - - 17 :gg 10.0 1.21.51.82.0 2.5 | 40 50 60 70 80 90 100 120 150 180 200
300

HUOIKGA  anAawisnavnnaunadun uaniktionnfuasivia

e

0 MasterTech @ @mts-th y/ N

B MTS

www.mastertechandsystems.com ‘«p, MASTER TECH & SYSTEMS

Q) 02-756-0000




Flat Ejector Pins
Wwuns:rivuuu SKD61 (ERNX)

>

: e ———
-9
9 g— RS I Swh Code ERNX
235 . o/ FU Material SKD61
QA -3 [ - S Hardness 40 - 45 HRC /900 HV ~
=0 = L _ —
; 3 _T—Em @ I'
3 '8 '|_ N g L *} R | Order Code D x L x P x W x N
o a [l (B0 e Ll Pim ERNX 12 x 400 x P10.0 x W25 x N200
3
@ D 0.01mm increments N
P 1mm increments
4 8 2.00 - 3.70 1.00 ~
5 5 . 200.00 - 350.00 250-270 100" N 240 and (L - N) <200
6 10 3.00 - 5.50 2.00 ~
7 11 3.30 - 6.60 2.00~
8 13 200.00 - 500.00 3.30-7.60 2.00 ~ D6-8:N =45
ERNX 10 15 5.00 - 9.60 2.00 ~ + D10-16:N =50
12 17 6.00-11.70 2.00~ - D20-25:N > 55
13 18 g 200.00 - 500.00 6.00 - 12.70 2.00~ and
15 20 8.00 - 14.70 2.00 ~ N>L/3
16 21 8.00 - 15.70 2.00~ 350 > (L/N) = 10
20 25 200.00 - 500.00 10.00 - 19.70 2.00~
25 30 13.00 - 24.70 2.50~

KHUIYIKGO  anAAINISNAYNIUNadUn uaniktioanfuaisivia

Runner Lock Pins aandonsuwuas (RLR / RLRL)

Py W

iy e ——

' R=0.3 , Code RLR / RLRL
D 2 Material SKH51
5 ] Hardness 58 - 60 HRC
=y
E-gm — Order Code D x L
LG 8 -3 I P RLR 2 x 40
) H B 3 L
2 4 , 1.5 1.0 |15 20 25 30 35 40
3 5 2.3 1.8 |15 20 25 30 35 40 45 50 60
AR 4 6 2.5 2.8 2.3 20 25 30 35 40 45 50 60 70 80
5 7 , 3.3 2.8 20 25 30 35 40 45 50 60 70 80
6 8 3.8 3.0 30 35 40 45 50 60 70 80
8 10 4 5.8 5.0 30 35 40 45 50 60 70 80

0
o
Q.
[1’)
v
=5
o]
0
<
©
[y
3
3
gl-
=
(1]
3
("]
=]
-+
7]

2 4 1.5 1.0
2.5 s 2 2.0 1.5
3 2.3 1.8 10.0 - 100.0
RLRL 4 6 2.5 2.8 2.3
5 7 3 3.3 2.8
6 8 3.8 3.0
8 10 4 5.8 5.0 15.0-100.0

O,
(@) MTS @ MasterTech  © @mis-th Q 02-756-0000

MASTER TECH & SYSTEMS www.mastertechandsystems.com

2




Sprue Bushes
Koda (SB)

i

Code D L d A 2
50 6 30 s
-
65 33+01 —2 e 5%
12 80 4 60 g2
95 3 75 £
110 3 90 o.v
140 35+01 3 120 0%
50 6 30 - B
= o
65 4 45 o
80 33+0.1 4 60 T o
90 3 70 o
16 100 3 | 80 &
110 3 90
- 120 3 100
130 35+0.1 3 50
170 2.3 150
i 50 3 3 30
- SB 65 4 45
o
2 B0 33+01 —2 Bl
1 95 3 70
100 3 80
20 110 3 90
120 3 100
Y R | R t ! 140 35+0.1 3 120
170 2.3 150
200 2.3 180
Code SB 50 3 3 30
[\ ELE] S45C 80 3 60
o5 3.3+0.1 3 75
110 3 90
Order Code D x L 25 130 3 110
SB 25 x 110 140 35+0.1 3 120
170 2.3 150
200 2.3 180

e

OMasterTech @@mts-th l«b MTS

www.mastertechandsystems.com \qp,’ MASTER TECH & SYSTEMS

Q) 02-756-0000




Sprue Bushes
Koda (SBBP / SBBK / SBBS / SBGP / SBGK / SBGS)

>

@ -
g ] 2—R4S5
O o
)
=3 4
o) -3 .
2.-. Q] a3 EHT;‘: 2‘
a9 o =T £ @
23 Details of part € -
53 5 5
Q"D ROS
= b
« 55 | I Dns
10 0.1 3 40—%2
Material Hardness
SBBP HPM1 37 - 43 HRC Order Code D x L x SR x P x A
SBBK SKD61 48 - 52 HRC SBBP 20 x 800 x SR16 x P3 x A2
SBBS DC53 58 - 62 HRC
3

N\

30

P+n1

)

n
al*1)

—H o
e o o
a R O - |

¢ Details of part
RS el ]
S Dns

+0.1
La 3 / 40 —E'rz

\
NV
.

5.5
10 0.1

Material Hardness
SBGP HPM1 37 -43 HRC Order Code D x L x SR x P x A x V x G
SBGK SKD61 48 - 52 HRC SBGP 16 x 90.0 x SR12 x P3 x A2 x V14 x G5
SBGS DC53 58 - 62 HRC
Code Dhé L SR P A° v G°
0 225
8 0-80.0 | 105 : 0.5-3 (%)
0 11 3
-0.009 3.5
2(%)
SBBP 10 0-120.0 0
2.5 (%)
SBBK N
SBBS 10.5 3(%)
& 1 3"'5 D>V2a+2| 1-10
SBGP
SBGK 13 _g 011 | 0-1500 | 12 4!_"5 0.5-4(%)
SBGS " 55
16 6
16 6.5
0 7
20 0013 | 072000 | 20 .

(*) L Dimension Limits

P 2 2.5 3 3.5-45
A 0.5 1 1.5-4.0 0.5 1 1.5-4.0 0.5 1-1.5 0.5 1-1.5
L Dimension Limits e 50 85 45 50 85 60 85 60 150

@\ MTS © MasterTech @ @mts-th

l«
‘\qy,’ MASTER TECH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Sprue Bushes
Koda (SBSM / SBSD / SBSS / SBTM / SBTD / SBTS)

A

5 G4 XE ..‘g
53
- g2
T W L 4 Sé
= ] _ 7]
=7 el ettt T 7 4 P £ 'gg
© B Bttt Tt~ S [ Y O
& . Details of part C T 5
1 { [ =
tal L W 9
+0.05 (72]
5401 Im +003 Part C
15 201 L+E'1
Code Material Hardness
SBSM HPM1 37 -43 HRC Order Code D x L x SR x P x A
SBSD SKD61 48 - 52 HRC SBSD 20 x 50.0 x SR20 x P4 x A2
SBSS DC53 58 - 62 HRC
5 p4X6
@
3 X ;@
1) 1 plt
tlir il g ,F-F ."‘-.\\
- Eﬁ ? THT i . %
=7 AL - gotulute 7.0 i P9 8. £ ,'r.r_@_ )
e i O ——-=_ 1 _ ] | , B LY ]
o A =y Details of part C Y - i
& — - 0.5 ‘N P/
- E I - -~ -
+ \ =
Sx01 I10 1 Part D
15 0.1 L g 3 / 30 —02
Code [\ ELE] Hardness
SBTM HPM1 37 -43 HRC Order Code D x L x SR x P x A x V x G
SBTD SKD61 48 - 52 HRC SBTD 25 x 60.0 x SR21 x P5 x A3 x V20.0 x G5
SBTS DC53 58 -62 HRC
Code Dhé L SR P A° ' G°
2
0 2.5
8 o 0-80.0 10.5 3 0.5-3 (%)
11
-0.009 3.5
10 0-120.0 0 2(%)
SBSM 2.5 (%)
SBSD 10.5 3(%
SBSS 12 - e
B "' D>V2a+2| 1-10
R 12
SBTM 13 o011 | 071500 a5
SBTD 13 5 0.5-4(*)
SBTS 16 16 5.5
o 20 6
0 2 6.5
] 0-200.0 7
»s 0.013 2 .
(*) L Dimension Limits
P 2 25 3 35-45
A 0.5 1 |15-40| o5 1 |15-40| o5 |[1-15| o5 | 1-15
L Dimension Limits 30 50 85 45 50 85 60 85 60 150
y D
0 MasterTech @ @mts-th y/

B MTS

www.mastertechandsystems.com ‘«» MASTER TECH & SYSTEMS

Q) 02-756-0000




Locating Rings
urndusovKkdAa (LRA / LRBS)

>

%) Aoz
- -
&3 -
L8 S/ ——
g & T )
» | | | [
a & dz .J| =
3 402 in
o d o
00 , .
a3 -
=
o
Code LRA / LRBS
Material S45C LRA 100 70 85 11 6.5 8 15
120 90 105
Order Code D
LRA 100 Code D T d A d1 d2 t Bolts
60 10 15 20 25 40 50 9 5.5 5 M5
D xT 10 3
100 70 85
LRBS 100 x 15
x LRBS 10 15 20 25 11 6.5 2 M6
120 90 105
15 20 25 8
150 15 20 25 110 130 14 9 6 M8
[ (] - —l
Locating Rings urousovrdda (LRB / LRIS)
Aoz
d
\%’ l T -
0.2
E |B tm | u-ul d:
X D—
Code LRB / LRJS Code D T B A d1 d2 t Bolts
Material S45C LRB igg 15 36 85 11 6.5 6.5 M6
Order Code D x T x B Code D T B A d1 d2 t Bolts
LRB 100 x 15 x 36 100 15 20 25|35 40 50
LRJS 120 15 20 35 40 50 85 1 6.5 6.5 Mé
150 15 20 35 40 50 100 14 9 8.6 M8

Locating Rings urkousavrdda (LRK)

A+o2 -
—0.1 o
1% di
l -
e
a8 | [lLe
D1—p2

Bolt hole
d2 di

11

Applicable
bolts

Code LRK
Material S45C

Order Code D
LRK 100

100
LRK 120 M 6

130 85 115
150 105 135

l@\ MTS @ MasterTech  © @mis-th

‘\q',’ MASTER TECH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Plain Guide Rails
nAwsa (GRS / GRSM)

i

Table for Bolt Hole Size

N Lo,

WMaunting balt hole : 2 Sowt 2

= —F = w T d1 d2 t1 w1 c
I ! J 8 )
=i i = = 10 8 45 3.5 45 S5
[ B = 10 15 : 5 : 0 0O

z
A LK) e ,J- 95 5 3 45 3.5 5 ‘E:' E
- Lok . ey 'Y > [10 15 20 : 5 o.u
. L-d1 | : y 2
I LS TR - 1 15 150 1520 25 985 g: 355 6 et 8
Mounting balt hole : 3 - : -

- . o |15 20 11 65 7 . T =
> @ 8 El 25 30 14 9 9 O .
25 |20 25 30 35| 14 9 9 10 -g <)
T T L=

30 |30 35 17 115 | 11 11 o

LA L AL =

i | (7]

I =] Qil Groove Pitch
. A 1
- WMounting bolt hole : 4 WDstails of Ol Groove } T P

oFf o
. 15 18

f W I 20 28
&8 J ] H . 25 38
— 30 48

- L " 35 58

Code GRS (Non-oil groove)
GRSM (Oil groove) Order Code W x T x L
Material SKS3 GRS 15 x 20 x 80
Hardness 53 - 56 HRC

No. of
Code . bolt holes
30 35 40 2
(5) 50 60 3
35 40 2 ) )
10 10 50 60 70 3 7.5
15 80 30 50
920 4 32.5 57.5
100 35 65
30 35 40 2
(5) 50 60 3
10 35 2 - -
12.5 40 7.5
10 50 60 70 3
15 80 30 50
GRS 20 920 4 32.5 57.5
(Non-oil groove) 100 35 65
(5) 40 50 60 2
GRSM 10 40 50 60 2 - -
(Oil groove) 15 15 70 80 90 100 110 120 3 75
20 130 40 90
140 4 45 95
25
150 53 97
15 40 50 60 70 80 90 2 _ ]
20 100 110 120 130 140 150 3
20 25 160 10 55 105
180 4 60 120
e 200 70 130
40 50 60 70 80 90 2
20 100 110 120 130 140 150 3 ) i
25 160 55 105
30 180 4 60 120
25 200 10 70 130
120 130 140 150 3 - -
35 160 55 105
180 4 60 120
GRSM 200 70 130
(Oil groove) 120 130 140 150 3 ) )
30 30 160 12
35 180 4 60 120
200 70 130

HUIgIKG  (5) Tlaw:sKa GRS

© MasterTech @ @mts-th l@) MTS

www.mastertechandsystems.com ‘«»

Q) 02-756-0000

MASTER TECH & SYSTEMS




Taper Pins
intJosSwu (TPN / TPNV)

>

n
-
-5
°a
Q
U=
o o
29
3
IRe]
a3
] ; , ,
v ) . , Di whe bined
o Pin RO.5 (2Bushing @Dimensions nm_'.ir_n i
o AL \ . 1 os M
—] A
- < | g ! 33
=8 ..:L. = —FF
g p b . o4 — =
= 3 58 - 57 ¥
\ - ]\ ]
| - .
I 1
T a
AR
M
Code TPN Code TPNV
Material SKD11 Material SKD11
Hardness 58 -62 HRC Hardness 58 - 62 HRC
Concentricity Match mark type Concentricity 0.01 or less

Order Code D x A
TPNV 20 x 3

Order Code D x A
25 x 5

TPN

Code Dk6 A° Dké A°
13 +0.012 10 | 0010
16 +0.001 +0.001
20 1 13 +0.012
e +0.015 3 16 +0.001 1
TPN 30 +0.002 5 TPNV 20 10,015 3
25 5
32| w0018 | 10 T
35 +0.002 32 +0.018
42 35 +0.002
£ . @ Setting
tap for bushing
10 14 7 6 5 M4 10 M4
13 14 7 6 5 M4 10 M4
16 14 10 6 5 M 5 10 M 5
20 19 13 9 8 M 6 12 M 6
25 24 16 12 11 M8 16 M8
30 29 20 15 14 M 10 20 M 10
32 29 20 15 14 M 10 20 M 10
35 34 24 18 17 M12 24 M12
42 39 30 24 23 M 12 24 M12

o MasterTech @ @mts-th

www.mastertechandsystems.com

@ M1s

UPSY MASTER TECH & SYSTEMS

Q) 02-756-0000




Puller Bolts
wataosluan (PBTN)

>

Code PBTN
[\ EYE SCM440
Hardness 33-38 HRC

Order Code D x L
PBTN 25 x 200

for Plastic Mold

[
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
e
c
O
-—
(%]

L
10mm increments

10 -0.025 16 8 4 6 M6 17 40-180
-0.061
PBTN 13 -0.032 18 8 4 8 M8 20 60 - 280
16 -0.075 24 13 7 10 M 10 23 100 - 300
20 -0.040 27 13 9 14 M 12 26 120 - 400
25 -0.092 33 18 10 17 M 16 32 170 - 400
[ -
Stop Bolts adGouluan (STBG)
P M (Coarse thread)
N
} S
Code STBG ¥
Material SCM440
Hardness 33-38 HRC lc ]
K L-iz E
Order Code D x L x E -t -t -
STBG 16 x 20 x 30
Code De9 H K C B M 2 L 3
0,025 10 19 24
10 o061 | 16 8 4 6 M6 17 15 19 24 29
: 20 19 24 29 34
10 22 27
15 22 27 32 37
20 22 27 32 37 42
13 18 8 4 8 M8 20 > 37 3237 42
30 27 32 37 42 47
-0.032 35 37 42 47
-0.075 10 30 35
15 30 35 40
20 30 35 40 45
o 16 24 13 7 10 | M10 | 23 > TR [
30 35 40 45 50 55
35 45 50 55
15 38 43
20 38 43 48
25 38 43 48 53
20 27 13 9 14 | Mm12 | 26 % 28 53 58
-0.092 15 44 49
20 49 54 59
25 33 18 10 17 | Mm16 | 32 25 49 54 59
30 49 54 59 64
40 54 59 64 69
y D
0MasterTech @@mts-th y/

Q) 02-756-0000

B MTS

www.mastertechandsystems.com ‘«p, MASTER TECH & SYSTEMS




Slide Adjustment Plates
unWutwanudsudlaa (SAS / SASM / SAPZ)

>

) SAS A=50- 70 A=B0 - 100 - 120 2—C=1
3" g , , A . [eircumierence)
al-y | sl S
U= |
=0 L o 4
2 OtO1H OO0 O L
o 9 i \-\‘

2o | ! .
o9 5] |15 15 15 e
Q9 A-nz A2 10 o
g.. A
SASM
Oil Groove Pitch
. B Q P
¢ 30 9.5 7
w 40 14.5 17
50 19.5 27
60 24.5 37

A=80- 100 - 120 31
{circumference)
L I
L] . L] .
* "1
< 1@ H
m
15
_"—" w7 | 1H+E.2
A-0s
Code Material Hardness
SAS (Non-oil groove) SKS3 53-56 HRC Order Code A x B
SASM (Oil groove) SKS3 53-56 HRC SAPZ 50 x 30
SAPZ (Oil free) Brass with graphite -

Code A B

30

>0 40

30

70 40

SAS 50

(Non-oil 30
groove)

30 40

§ASM 50

(Oil groove) 60

SAPZ 40

(Oil free) 100 50

60

40

120 50

60

o MasterTech @ @mts-th

www.mastertechandsystems.com

@ M1s

UPSY MASTER TECH & SYSTEMS

Q) 02-756-0000




Qil Free Slide Units
yadladooews (SCZN)

i

Components Material Pcs

[
=
e
Slide base S55C 2 g_§
Inclined pin holder SCM440 1 g 0
Slide plate Brass + Graphite 2 O "g
Parallel Key S45C 1 -g o
Stopper $S400 2 2.9
<]
&
BH
4—B: Bolt N 18 4—BM: Screw
—B: & _
——
"“"ET ran PM: Bolt
Tl :
= Tr_;l:-'—;- d
= T ol 5
1 = g— _"_LL:- T ,Ir he el <
{E-__ LI].___L ____:} - HH--
; DN+ I
\@@ J/ ol
‘ |_ B2t02 _| A Jr I
214002 4— K7
F L
Ba®
‘-I'Jfl_-‘_—___‘-‘_‘_ -
i'!f T
€= = =

Order Code D - A
SCZN 16 - O

Inclined pin holder Slide plate
H d d1 h h1 S a
12 56 55 35 5 - 11 | 55 - 16 10 - 30 20 35 17.5 4.65
16 60 | 65 | 36 6 - 15 9 16 | 18 | 11 3 33 20 40 18 4.65
SCZN 20 0-10 | 68 | 70 | 43 6 5 18 | 11 | 20 | 22 | 13 | 55 | 38 24 40 21.5 4.65
25 75 80 45 6 5 22 11 20 26 15 | 55 45 26 45 22.5 4.65
30 81 | 95 | 54 6 5 |275] 11 | 20 | 30 | 17 | 3.5 | 51 30 55 27 4.65

Bolt hole dimensions

BL B2 B3 BM K ®
12 42 | 21 | 45 |66 | 11 | ;. | M8|285] 6 0°-10° -
16 46 | 25 | 48 | 66 | 11 M8 |[295]| 6 0°-10° =
20 50 | 25 | 55 | 86 |13.5 M 10| 345]| 8 4°-10° 0°-3°
25 60 | 35 | 62 | 86 [13.5| 20 [M10[365[ 8 4°-10° 0°-3°
30 75 | 50 | 68 | 8.6 | 13.5 M10| 455 8 0°-10° -

0 MasterTech @ @mts-th l@\ MTS

www.mastertechandsystems.com «p, MASTER TECH & SYSTEMS

Q) 02-756-0000




Oil Free Inclined Pin Holders
sadalacdawuldgvooaws (SCZNP)

>

%
o L/ =
S [T mmaw
Q .I’..- : F [
2 = i ﬁE B ol
g T E@ LIS | R
= 0 B | - B Hm 1
0 o r ” I u
23 1] Ol
00 A 5 .
E =4 H =t s
‘D =
=3 a
—r
(7]
= ul -
[
T .,._;' T Il T
Order Code D o =) 7 - _,_'_.__J -
SCZNP 16 } e |
B—E Section
Item Components Material Pcs
@ Inclined pin holder SCM440 1
@ | Sslide plate Brass + Graphite 2
® | Key $45C 1
@ Inclined pin holder @ Slide plate
Common with SCZN @ Inclined pin holder Common with SCZN (3 Slide plate
d d1 h h1 h2 N S El T
12 11 5.5 - 16 10 - 30 17 20 35 6.5
16 15 9 16 18 11 3 33 20 20 40 6.5
SCZNP 20 18 11 20 22 13 5.5 38 25 24 40 6.5
25 22 11 20 26 15 5.5 45 31 26 45 7
30 27.5 11 20 30 17 3.5 51 36 30 55 7.5

Slide Locks aladaon (SLLK)

%.x

Code SLLK
Material SuJ2
Hardness 58 HRC ~

Order Code D x P
SLLK 16 x F

R p1lmin P2 Imax]
C (SWC8 - 15) 225 28.6
- 16 F(SWF8-15) 1.6 15 33 5 2.5 6 3.2 M3 M4 8 4 1 620 758
3 36.7 62.9
20 REWELCE 1) 2 20 4.5 6 3.5 7.5 4.3 M4 M5 10 5 1.1
L (SWL10-15) 64.1 110

@\ MTS © MasterTech @ @mts-th

l«
‘\qy,’ MASTER TECH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Latch Locks
AanAuLWuw (DTP)

R |

. H A
@Dz -
Ds_, — ] DTP-B
h + 1 1 1
‘p———— T . I
7N T Rt
:E* @ T e ~ | I i = Order Code
] 1 L DTP-A
__|D5 . BD: .
Code P P1 P2 Pa R1 T1 T2 T3 W1 W2
DTP-A 18 25 60 12.5 R4.25 20.5 12 20.5 40 17.5 86
DTP-B 26 35 70 20 R6.5 30 19.5 25 60 25.5 127.5
A1 A2 A3 D1 D2 D] Da Ds Hi H2 H3 L1
6 12 21 @5 ?10.5 ?6.5 P11 ?6.5 48 20 28 6.5
20 12.5 23 @6 @17 @10 @17 @10 62.5 25 33 10

Q) 02-756-0000

0 MasterTech @ @mts-th

www.mastertechandsystems.com

P

@ MT1s

MASTER TECH & SYSTEMS

i

for Plastic Mold

[
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
e
c
O
-—
(%]




Taper Block Sets
salnwosuaon (TBS)

A

wn
=
- g
o a
=
Q
3=
Q [o
29
0
3
<o
09 v
o 3 B Mounting bolt hole: 2 (L30~120) EMounting bolt hole: 1 (L2025, excpet A12 and A16)
=3
o L 2 Bushing (Tein % Bushing
4
- AR - Al a8
Al =0 H =
T ¥
i
@ i ]
- =d 3 =d
=1 ] ] i 1}
& ; e
-1 - =1
Eg 5 ] ]
i
K et Kroa Jz-cs
. d 2—Cn5 !
[ E -
~ I Fl -l P A
=5 1] [ dat— wi o
i f P
Feut w 2c 1
oo **
*2 [ ! - < .
o " ; = =01 N
L \ 4=C1/ \H oy ke
ot & i (Tsmering g o
EMounting bolt hole: 1 (A12 and A16 only) M2 B2 @Dimensions when combined
A6 "3
(TFn (FBushing ¥ Wt
+ 5
Al PR Al PRS- fe i
[ N
- ; - k. &
a2 — ]
TH =
 Iul S
= | = "
=5 [ 3 = .
o | - -
S Order Code A x L x K
K s Aaas TBS 20 x25 x 5
A ) —
* | o= leamgeari\rs‘ls(t)l;\sggr:l;etry Material Hardness
— W ++
= e To add fitting processing,
++ — -
= TBS +0.02 (Match mark type) not applicable to combination SK_DM 58-62
0 - equivalent HRC
4=C1 M 8 =01/ WX 2 with other than sets.
Bolt hole Installation Tap Taphole No.of
22 d bolts N Mx€  boltholes
15 1
12 20 7 5 M3 bolt M3 M3 x6 (Tap hole)
16 :: 9 - - M4 bolt M4 M4 x 6 (Taplhole)
20 23 7 14
7 1
25
20 12 6.5 [ 3.5 M3 bolt M4
30 75 | 15 2
40 1 10 | 20
25 30 3 15 28 9 17 75| 15 8 5 M4 bolt M5 5
40 8 10 | 20
8BS 25 5 - - 1
30 30 17 32 10 20 | 75| 15
20 10 | 20 9 6 M5 bolt M6 )
30 7.5 | 15
35 40 20 10 35 11 22 20
2 o [
= T 11 7 M6 bolt M8 2
45 25 15 45 14 29
75 17.5| 40
100 3 20 | 60
60 5 15 | 30
65 90 35 20 60 19 39 20 | 50 14 9 M8 bolt M10
120 30 | 60

o MasterTech @ @mts-th

www.mastertechandsystems.com

(@) MTS Q) 02-756-0000

< MASTER TECH & SYSTEMS




Taper Block Sets
santJosSuaon (TBSF)

>

2
5
53
o >3
§ .
03
2=
_g —
cl
<]
—
(75)
EMounting bolt hole: 2 (L30~50) EMounting bolt hole: 1 (L25) EMounting bolt hole:1 (L16 - 20)
1 Pin (2 Bushing
L] 1]
E_‘_ﬂ l—um&__,_E . A A A A
| & et — I —
) Sl S A RRE E
¢ =/ - N 4o @ ' @ a o i _¢__
4 ' 4 | = LY /
o 4 D
_}} N k= JE
4—C3
—tl S T
V—d0s
=| 0003 [A i a section vithos . =To003 Details of part A
1 . =
oo i —_
: =
W [_ i IR
- C s
73 s \
— .
‘\5—;] ‘ Order Code A x L x E
a—c1f NiDismounting t2p hoke) TBSF 20 x 25 x 12

Positioning precision V dimension symmetry

5 Material Hardn
@ Bushing (Clearance) against A/B plane atena SLagess
0 +0.01
TBSF -0.005 +0.005 0.005 -0.015 0.003 or less SKD11 58 -62 HRC
Bolt hole Installation Tap No. of bolt
Selection €2 d t bolts N holes
16 8 26 17 ( 1h )
12 30 21 Tap hole
16 2 3 9 26 17 - - M4 bolt 1
) ) Tap hol
12 30 fg 2L 11 |os|os ma |2 hole)
25 8 26 17 1
12 30 21
20 12 6.5| 3.5 M3 bolt
30 8 26 17 75| 15 2
12 30 21
25 10 32 210 [1Jos]o5] | 1
15 37 26 [ 2[1]1
TBSF 25 " 10 15 32 10 1 T Toslos 8|5 M4 bolt M5
15 37 26 2 1 1 75| 15
30 12 36 23 1]05]05](
20 44 31 [2[1]1
30 " 12 17 36 23 T Toslos 95| 6 M5 bolt M6 ,
20 44 31 2 1 1
12 20
15 41 28
% 25 51 38 2
35 20 2 il 1 11| 7 M6 bolt M8
50 15 41 28 30
25 51 38

OMasterTech @@mts-th @ MTS

www.mastertechandsystems.com «p, MASTER TECH & SYSTEMS

Q) 02-756-0000




>

(2]
-+
-9
o o
o

o)
O =
oo
20
0
z3
0o
a3
3
3
wn

Tapered Block Sets

salnosuaon (SO02)

D Cc

M - —_——
T - | l
N\ o= 1
7 D@ =
. - e ..:"f-"' \\
4 I' f1¢ ot I + E - |
Code S02 ord Cod
Material YK30 sreer nge o
Hardness 58 HRC ~ >
Code E L W D C G M
S02-50 - 50 25 8 17.5 5 M5
S02-100 60 100 30 10 22 5 M6
S02-150 100 150 40 13 25 5 M8

Side Locks dhaonchunuvuuwuw (PL)

w § 0
—] A B R
a T oq
i or L~ %
! o)
TN =/ 1
T ' T
i
=
SRR 1 | -
J|| JI' L
Order Code
PL-38
A B C ») F f K J G M L N 3
PL-38 8 | 22 | | 12 ] 10 | 65| 2 7 7 . 13 . 22
PL-50 50 | 215 17 | 11 | 65 | 38 | 11 | 11 16 215
PL-75 75 | 36 | 50 | 25 50 | 18 | 18 8 3 36
PL-100 | 100 35 | 17 | 11 | 70 12
45 | 65 2 | 22 | 10 45
PL-125 | 125 45 84 25
A
MasterTech @mts-th
(@) MTS O MasterTech @ @ms Q) 02-756-0000

S A

MASTER TECH & SYSTEMS

www.mastertechandsystems.com




Side Straight Block Sets
AoanAUKULULWUW (TSSB)

i

for Plastic Mold

(2]
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
e
c
O
-—
(7]

(DPin

2]

©r

sl
i guecnly b Y

©

4l

Order Code A x E
TSSB 30 x 8

Positioning precision V dimension symmetry

(Clearance) against A/B plane izl Al s
0 +0.01
TSSB 0.005 -0.015 0.003 or less SKD11 58 - 62 HRC
-0.005 +0.005
E Bolt hole Installation
d1 bolts
16 6 7 17
20 6 8 11 1 1 0.5 - 5 8 4.5 M4 bolt 8 3
25 8 10 19
8 22 1 1 0.5
30 20 12 14 34 ) ) 1 16 6 9.5 5.5 M5 bolt 10 4
TSSB 10 28 1 1 0.5
40 25 15 18 23 ) ) 1 22 7 11 6.6 M6 bolt 13 6
60 20 5 | 30 20 36 | 12 | 14 | 86 | M8bolt 20 | 11
35 65
30 70 C C L
80 y 30 40 = 52 14 18 11 M10 bolt 25 14

© MasterTech @@mts-th l@} MTS

www.mastertechandsystems.com ‘«»

Q) 02-756-0000

MASTER TECH & SYSTEMS




Side Straight Block Sets - Tin Coating

danAchukuvuLwuw (TSSBN)

>

wn
—
-9
o o
o

o)
O =
oo
20
0
z3
0o
a3
3
—
wn

(1)Pin

. . ;.’."//.‘.!"/ 4;
(2)Bushing 2k 1 12—¢
+ / v, 2—HRa “
o W E ’ y
== ” ":r//.rfa i :: ________
I . 4 |
N/// v _I'____
- ’ y _ i o
AR ; y = | V1T
L : G ==
%f? /f.’//#.‘%"ff.‘/.ff/ 'f//: !
TiN coating £ \2=Co
(All area of outer c:urner}[E A—0.01 Order Code A x E

TSSBN 25 x 8

v Positioning precision V dimension symmetry Material Hardness
@ Pin @ Bushing (Clearance) against A/B plane
TSSBN 0 +0.008 0.003-0.013 0.003 or less @ sko11 @ 53-56 HRC
-0.005 +0.002 ‘ ’ : @ SKD11 - TiN coating | ) 53 - 56 HRC 2000 HV~

Bolt hole Installation
P Q di d2 bolts
6
17
20 6 8 11 - 5 8 (4.5 M4 bolt 8 3
TSSBN 25 8 10 19 1 1 0.5
30 8 12 14 22 16 | 6 |9.5(5.5 M5 bolt 10 4
40 10 15 18 28 22| 7 | 11|66 M6 bolt 13 6

(@) MTS @ MasterTech  © @mis-th

N7 MASTER TECH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Positioning Straight Block Sets
danAchunuvuLwWuw (TTSB)

A

&
o
53
o>
§ .o
33
2=
_g —
c L
O
—
n
G
]
a
o
vid
'_.d
i)
=3t 2-R0s i
| H w3
[17] H | e
oy = w Ifﬁ
$F : = &
= H
' 4—C1
® A40 - 50
TPin (ZBushing
A-Gos Ao
P . P
[ 1 | c
‘ 1 ] \‘ | ! I
i i}
=g | AN 13
L | ; It
1 l ]
vid
& gection
<3 2-ms | 5 . Ty T T
u PR | | Bl & as
= Tl | : | -1 : = 133
77 { ' 1 8 : .
g Elh- I E!E — T ;"P. : ! Order Code A x E
a-c/ %, MiDismounting tap hob) N(Dismounting tap hole) | “4=0

TTSB 25 x 8

Positioning precision V dimension symmetry

(Clearance) against A/B plane Material Hardness

TTSB 0.005 -0.015 0.003 or less SKD11 58 - 62 HRC

Bolt hole Installation Tap

d t bolts \|
20 6 12 23 8 14 10 0.5 . 6.5 3.5 M3 bolt M4
;2 g 15 28 10 17 12 1 )
TTSB 8 45 M4 bolt M5
40 8 20 32 12 19 15 6 28
15 43 17 25 >
50 15 25 46 28 20 35 95 5.5 M5 bolt M6

© MasterTech @@mts-th ‘ l@\ MTS

www.mastertechandsystems.com

Q) 02-756-0000

«p,’ MASTER TECH & SYSTEMS




>

wn
—
-9
o o
o

o)
O =
a o
290
0
z3
(]
a3
3
—
wn

Positioning Block Sets
danAchukuvULWUW (LBJX)

Code LBJX
Material SKD11 Order f;f'xe ;:) * 1T91
Hardness 58 - 62 HRC g

(2)Bushing 6n=3u (2)Bushing AD=40 -+ 50 1Pin
—0. A—n
O Oy T0008 o
W o Vo W oo~ Vg s V0015
V2 },ﬁ’ Wi2 }ﬁ" N V2

i ! i ™ ] # T,
oo
T (A o3 (AN

+02

T1+401

@}__1'”2

+0.2

T1+0.

E +H.2

L -

=01

Tz —0.2

19

/
v
&

Installation
bolts

Tap
N

LBJX 40 12 16 10 25 25
24
29

50 34 15 20 15 35 11 6.5 M6 M8 30

S A

@ M1s

MASTER TECH & SYSTEMS

o MasterTech @ @mts-th

www.mastertechandsystems.com

- Q 02-756-0000




Roller Lock Sets
vaaonlsataos (MPLK)

>

@ Normal bushing / Slim bushing

for Plastic Mold

N
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
O
c
O
-—
(%]

(1) Lock holder

Lt - Al
P - -t
O | ©., 4|
& ! ' [ h{D.B}
72\ a0\ I B I it o
@ ‘ @] ur - e
I [ : T
|_ L2 _| = h
N I P I -~ C A -

* Use under temperature 80°

Code MPLK Order Code No.
Material S50C + SK3 MPLK 60

Standard type

Max. usable load

( 2 sets under > (A} .
normal temp ) pcs. Eac
10 (1%%11(';‘} 48 | 36 36 | 24 95 | 18 gao -2
25 | 42 | 22 | 18 2 2 22 | 24 | 16 6.5
20 196N 54 | 42 40 | 28 9 | 16 | 11 @ste -2
{200kgf} CB6 - 25
30 2942N 65 | 46 50 | 31 FYoll ¢ CB6 - 30
{300kgf} CB6 - 35
MPLK ST 485 3.5 26
60 (600kgf) 35 25 | 20 | 35 27 | 19 | 95 | 17 -5
285N 73 | 50 52 | 33 14 9 D I
805 {800kgf} 56.5 11.5 34
9807N CB10- 30
100 {1000kgf} 103 | 65 | 48 | 58 | 30 | 24 4 4 76 | 42 | 31 | 34 | 25 | 13 | 19 | 17 | 11 | gpooTio
Long type
Max. usable load (Al
( 2 sets under > e
normal temp ) pcs. Eac
5884N
60L {600kgf} 79.5 34.5 57 B8 - 30
73 | 50 | 35 25 | 20 | 35 52 | 33 27 | 19 | 95 | 17 | 14 9
7845N CB8-35
MPLK 80 (800kgf} 87.5 425 65
9807N CB10 - 30
100L {1000kgf} 103 | 65 | 48 | 8 | 30 | 24 4 35 | 76 | 42 | 62 | 34 | 25 | 13 | 19 | 17 | 11 | coooc
>

Q) 02-756-0000

0 MasterTech @ @mts-th

www.mastertechandsystems.com

l«
\

P

)
4

MTS

MASTER TECH & SYSTEMS




Magnet Lock Sets
yadoAuukan (MLK)

>

wn
-
-9
o o
o

o)
O =
a o
29
0
z3
(]
a3
3
—
wn

u

Code MLK Order Code No.
Material SS400 + Magnet MLK 60

=2
cc‘-'-‘

® Holder A

2— @ Dz (identification collar)

2—@& D1 (Magnets dz
K//_[_au_l -

am ] T
1 i
T
|
. |-
=|cu ‘:_ -
i "
LU
5 r
L (Lo01[4]
30
® Block dz | 15

] 1 EIE
I | I ! ] J

i I T E_‘J ] -
[T — Ly e ! by !
] |r ] 1|— j[ | E-
| ! 1 1 1
H ] . I H

|| ]

Adhesion strength Identification .
Code (per set under 20°C) collar Accessories
392.3N
MLK 40 Gold (Brass
{40kgf} ( ) CB8 - 25 4pcs.
63 25 60 80 25 12 18 22 9 14 .
MLK 80 784.5N Silver Spring washers 4pcs.
{80kgf} (Aluminum)
980.7N
MLK 100 Gold (Brass
{100kgf} ( ) CB10-30 4pcs.
100 39 79 126 40 15 30 34 . 11 18 k
MLK 200 1961.3N Silver Spring washers 4pcs.
{200kgf} (Aluminum)

-
@\ MTS @ MasterTech  © @mis-th Q 02-756-0000

l«
‘\qy,’ MASTER TECH & SYSTEMS www.mastertechandsystems.com




_ Parting Lock Sets
sawasnvaoan (PLS / PLM /PLL)

A

(7]
e
o
53
g— >3
o.Y
53
=
_g —
c 2
S
Order Code ”n
PLS
o i I
@'ﬂ;d& lock (1&lide holder (5)Back plate (3)8lide lock
o AW )
N OF D o |2
o i = = T
E S :. \._-‘_ JT ﬂ:l 1 ( \'l E
Az Al AL
L L
' A1 (@)Cam lock
- A ¥ /@Eam lock (4)Gam loc T
1
Balt hole M ]
TR T ~ — —
&t (2)Cam holder 4 5 -
ol© [ =
oy L
Leray %
h, ] .
| o
||
®)Release bar | =i I (7'Spacer '
= -
L i
7 L
] Y | —
| L | -
Item @ Slide holder @ Cam holder @ Slide lock @ Cam lock ® Back plate ® Release bar @ Spacer
Material SKD61 SKD61 SKD11 SKD11 SK S45C S45C
45 HRC ~
Hardness 50-55 HRC 50-55 HRC 58 HRC ~ 58 HRC ~ 50 HRC ~ (Induction hardening) -
Code @ Slide holder @ Cam holder ® Slide lock
A A1 A2 A3 Asa B B1 B2 C Gt G W U Bolt hole M d RL RT RW
PLS 68 | 61.5| 55 19 7 26 19 7 24 17 7 20 8 For M6 6 18 7 11
PLM 88 79 70 24 9 38 29 9 30 21 9 30 12 For M8 $8 20 9 16
PLL 104 | 93 82 27 11 48 37 11 38 27 11 45 20 For M10 ¢ 10 24 12 26
@ Cam lock ® ® Release bar @ Spacer Accessories
CP CA CT t w2 L ST Doelpin  Spring
PLS 45 28 16 | 7.5 8 6 13 | 5.9 7 250 | 13 [ 6.5 | 40 CB6 - 25 MSTM6 - 30 WHH6 - 15
'LM 64 41 20 10 10 7 16 8 10 [ 300 | 16 8 50 CB8 - 35 MSTMS - 40 WHHS - 20
dLL 84 |53.5| 25 18 13 8 20 | 9.5 (155|350 | 20 |10.2| 55 CB10-50 MSTM10 - 50 WHHS8 - 20
© MasterTech @ @mts-th y/ «»\ MTS
02-756-0000 L\
www.mastertechandsystems.com NP MASTER TECH & SYSTEMS




Parting Locks
wasnéivaon (PL / PLO)

>

wn
-+
— g i
28 .
O =
o o ol = >
20 |
a
z3 L |
0o
a3
3
g T L 10
PL (Yellow)
Ord Cod D
Code PLO (Orange) raer Pf € 6
Material SCM435 + Resin
D di M ] L T Color Qty/Box
10 8.5 5 4 18 3 12
12 11 6 5 20 3.5 12
PL 13 11 6 5 21 3.5 Yellow 12
16 14 8 6 26 4.5 12
20 16 10 8 31 5 10
13 11 6 5 21 3.5 12
PLO 16 14 8 6 26 4.5 Orange 12
20 16 10 8 31 5 10

Air Jet Valves dos:ungoima (AJV)

L +0.05

[
(@]
D
2

M| e

T

Locating pins / Spring noumenon

Code AV Order Code D x L
Material SuUS420 AJV 16 x 30

Code D L

5 12
6 12
8 12 15
10 12 15 20
AV 12 12 15 20 25
16 20 25 30
20 20 30 35
25 30
30 30

l@\ MTS @ MasterTech  © @mis-th

‘\q',’ MASTER TECH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Cooling Plugs
cddxpasun (CL)

>

2
Code D L § e
| Metal ring 6 10 §'§
S T—% 8 10 S%
N ‘ | 10 11 2=
= ; 12 12 T5
cL 14 13 5
- 16 14
‘ 20 18
' 25 19
30 19

Code CL Order Code D
Material Brass CL 12

Cooling Plugs cooasth (JWP)

2 v

Only for D20, D25, D30
Code Jwp Order Code D
Material Brass JWP 8

@ @ @ ® ®

0¢0

Code

o
e

8.5
JWP 10
11.5

—

iy

14 12

@ 0O-rings (®Spacer @ Metal ring ® Tapered washer ® Screw

Material Brass (C3604) Fluoric rubber | Brass (C3604) - Brass (C3604) Brass (C3604)

© MasterTech @@mts-th (@} MTS

www.mastertechandsystems.com NP MASTER TECH & SYSTEMS

Q) 02-756-0000




>

(2]
-
-9
o o
o

o)
O =
a o
29
0
z3
]
a3
3
—
wn

Date Inserts
d>duansui (DM, DTO, DTOX)

DM uwuunoaldlula

6
DMB ’ £
s 6
DM 8
5 )
DMS
s o
DMD
8 10
Material SUS420 DMF 10
10
DME 3
12
Order Code D x L DMN 14
16 14

DT wuunaaldila

. 7 =
C=0 C=0 T
; | =
\ B
: — N\ -
- £
Order Code D Material SUS420 [ ——— p
DTD 10
Code D Dmé Dh7 L d dHz B K
+0.008 | 0
DTBB 3 ) 8 1.4 2 3
; +0.002 | -0.010 _ — +0.010 — -
oT 5 *0.012) 0 8 2.3 0 3.4 4
DTS 5 +0.004 | -0.012 5 oE 7 A
DTD 8 +0.015 | 0 10 4 +0.012 | 5.6 4
DTE 10 +0.006 | -0.015 12 5 0 6.5 6
+0.018 | 0 +0.015
16 14 10 12 6
DTE +0.007 | -0.018 0
DTN 20 +0.021 | 0 16 1 +0.018 ” .
+0.008 | -0.021 0

DT X wuunoaldla

! =)
-1
+
i
Order Code D Material SUS420
DTBX 12 #Onr
[} L
DTBX : .02 2 E 22:5 1.2 7.7 1.5 3.0 i‘; 2.7 | M1.6X0.20
DTX 6 +0.004 | -0.012 g 2.9 1.0 37
DTXS 8 +0.015 | 0 10 3.4 9.7 2.0 3.5 5.0 3.2 M2.3X0.25
DTDX 10 +0.006 | -0.015 12 4.2 1.5 11.7 4.0 6.3 40 | M25X0.35
DTEX 12 +0.018 | 0 14 4.4 1.2 — 2.5 g 7.5 42 | M3.0x035
DTEX 16 +0.007 | -0.018 14 5.0 1.4 1.8 : ) 11.0 4.8
+0.021 | 0 M4.0 X 0.35
DTNX 20 16 5.3 1.5 2.0 15.7 3.5 5.0 13.2 5.3
+0.008 | -0.021

Year + Month 4 Year Days (0-3) Days (0-9)

MTS © MasterTech @ @mts-th Q 02-756-0000

\qy, MASTER TECH & SYSTEMS www.mastertechandsystems.com



) _ Date Insert
AdBuondun (DTBZ / DTEZ)

>

- Dr: - ») Dmeé Dh7 L B d g
" d _ | | e=o 6 +0.012 | 0 38 18 o
| - +0.004 | 0012 | ' ' §_§
+0.015 0 L
8 53 2.5 NE-
" +0.006 | -0.015 'E£
b +0. O
- 10 G ¢ 12 6.4 3.2 ‘g N
+0.006 | -0.015 S
! (7]
Material SUS420 * f 4 16 QL [ ° 14 10.2 5.0
# D7 | +0.007 | -0.018
i Year Code EW D
6 6
26 (for 2026)
8 8
DTBZ 27 (for 2027) DTEZ
10 10 Order Code D x Year
28 (for 2028) DTBZ 6 x 26
16 16 DTEZ 8

Recycle Mark d@>3uoningavkuiesisiaa (RMOD)

4,
N

b M
I I~
1
1
<« H R -
. B S I
L ez
n
1
1P
| £
|, Liooz | Material SUS420
12 . t
RM1) RMI1E 8 10 M4 5 5 0.2
RM2J RM2E
RM3J RM3E 10 12 M5 7 6 0.3
RM4) RMA4G
RMS5)  RMA4F 16 14 M6 7 10 0.3 Order Code D
RM6J RM7E
RMIE 10
RM7) 20 16 M6 8 12 0.3
. : Polyethylene High density Polyvinyl .
Applicable Plastics terephthalate Polyethylene chloride Low density Polyethylene Polypropylene Polystyrene Others
RM1J RM2J) RM3J RM4) RMS5J RM6J RM7J
e | (@)@ B @ | &
@ Lol
RM1E RM2E RM3E RMA4G (Germany)| RMA4F (France) RMS5J RM6J RM7E
German and French = = =
standards comparable
to US SPI standard
S PG g gl Hp 0 P,
ST
0MasterTech @@mts-th y/

B MTS

www.mastertechandsystems.com ‘«» MASTER TECH & SYSTEMS

Q) 02-756-0000




>

PIOW 2lisp|d 1o}
syusuodwo) piopupjg

Mold Shot Counters
AOUUIUDUULLWUW

M-CVPL . Counter Pin
1 Shot Counter 475 | 25
® ' 20
N |
wooos MY/ & ===
LTETTIT,
O
M'CVR 46-?5-'-312
= - Counter Pin
41250 Actuator Rod
i
ooooooo W s | [C— ﬁ
o= S ogioloaislofl
| -

1'Body
M-RCC 3

Serial number |

M-RCCB T'Body Countar Pin (2 Actuation Block
476 | 24.3 127 2
3 18

® - 238 _| .": 20 . ._'_.

y 1/ == Tl =

2 & | [(so99980 j O 8 &

—

et | o s

61| |

Serial rumber |

( } MTS © MasterTech @ @mts-th Q 02-756-0000

www.mastertechandsystems.com

AP? MASTER TECH & SYSTEMS



Shim Plates
uWusw (CS / SS)

i

for Plastic Mold

[
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
e
c
O
-—
(%]

Code CS Code SS
Material Carbon Steel Material Stainless Steel

Width x Thickness Width x Thickness
12.7mm 50mm 12.7mm 12.7mm  50mm 100mm  150mm  300mm
5m 2m 5m 5m 5m 5m im

0.01 o 0.005 o .

0.02 ] 0.01 . . . .

0.03 o o 0.02 o o . .

0.04 . . 0.03 . . . .

0.05 o o 0.04 . . . .

0.06 . . 0.05 . . . . .

0.07 o . 0.06 . . .

0.08 . . 0.07 . .

0.09 o . 0.08 . . .

0.10 o o 0.09 o o

0.12 . . 0.10 . . . [ .
(Y 0.15 ] [ 5 0.15 o . .

0.18 . . 0.20 . . . . .

0.20 o o 0.25 o . o

0.25 . . 0.30 . . . . .

0.30 o o 0.40 o . . o

0.40 . . 0.50 . . . .

0.50 . . 0.60 . .

0.60 . . 0.70 .

0.70 . . 0.80 o .

0.80 . . 0.90 .

0.90 . . 1.00 . J

1.00 . o

0 MasterTech @ @mts-th y/ o

B MTS

www.mastertechandsystems.com ‘«» MASTER TECH & SYSTEMS

Q) 02-756-0000




>

wn
-
-9
o o
o

o)
O =
a o
29
0
z3
0o
a3
3
—
wn

Fitting Joints
vocioasv (M-PC)

Code
Material

Order

M-PC

Resin, Brass

Code Size
M-PC 4 - 01

nRoo JIunqarvau
@8
M5 M-PC4-M5 M-PC6-M5 - - -
1/8" M-PC4-01 M-PC6-01 M-PC8-01 M-PC10-01 M-PC12-01
M-PC 1/4" M-PC4-02 M-PC6-02 M-PC8-02 M-PC10-02 M-PC12-02
3/8" - M-PC6-03 M-PC8-03 M-PC10-03 M-PC12-03
1/2" - M-PC6-04 M-PC8-04 M-PC10-04 M-PC12-04
Fitting Joints daciovo (M-PL)
Code M-PL
Material Resin, Brass
Order Code Size
M-PL 4 - 01

> JunadIvay
i @4 @6 @8 @10 @12
M5 M-PL4-M5 M-PL6-M5 - - -
1/8" M-PLA-01 M-PL6-01 M-PL8-01 M-PL10-01 M-PL12-01
M-PL 1/4" M-PL4-02 M-PL6-02 M-PL8-02 M-PL10-02 M-PL12-02
3/8" = M-PL6-03 M-PL8-03 M-PL10-03 M-PL12-03
1/2" - M-PL6-04 M-PL8-04 M-PL10-04 M-PL12-04
i MasterTech @mts-th
(®)MMI§M wv?w.mas’rerfechonfystems.com Q 02-756-0000



Fitting Joints
Jocioasv (M-POC)

C R(PT)

1 ——
Code M-POC 1
A o Resin + Brass l
ateria with Nickel plating l—-ﬂ»
Order Code Size L
M-POC 4 -01

R(PT) Matching tubes = Tube inserting hole

Outer x Inner dia. Hole dia. P Depth C

4-01 9.7 (2.5 20.0 16.0 8 1/8 4x2.5 4 14.9
6-01 11.8 O4 22.1 18.1 6 x4 6 17
6-02 13.7 21.3 15.2 11 1/4
8-01 | ;34 05 259 | 219 8 1/8

M-POC 8-02 ’ 25.1 19.1 11 1/4 8x6 8 18.2
8-03 16.8 O6 22.2 15.9 12 3/8
10-02 29.8 23.8 11 1/4
10-03 17.5 293 23.0 b 28 10x 7.5 10 20.7
12-03 20.8 08 31.9 25.6 12 x9 12 233

o [ ] (] L n
Fitting Joints dJaciaasv (M-POCL)
. C . b RET)

D1
~

Code M-POCL F |
. Resin + Brass - ]
Material with Nickel plating . ' ) : )
L
Order Code Size - )

M-POCL 8-01-L50

Matching tubes  Tube inserting hole

R(PT) Outer x Inner dia. Hole dia. P Depth C
8-01-L 40 48.5 44.5
8-01-L 50 58.5 54.5
8-01-L 60 68.5 64.5
8-01-L 70 1 78.5 74.5 26.5 3 1/8
8-01-L 80 88.5 84.5
8-01-L 90 98.5 94.5
M-pOCL 8-01-L 100 Os 108.5 | 104.5 8x6 8 18

8-01-L 110 118.5 114.5
8-02-L 50 58.5 52.5
8-02-L 60 68.5 62.5

14 - 11 1/4
8-02-L 70 78.5 72.5
8-02-L 80 88.5 82.5

0 MasterTech @ @mts-th y/ o

B MTS

www.mastertechandsystems.com ‘«p, MASTER TECH & SYSTEMS

Q) 02-756-0000

i

for Plastic Mold

[
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
O
c
O
-—
(%]




Fitting Joints
vocioasv (M-120KC)

>

% S - S,
4 - -
g3 C R
<9 | - -
o o iy '
%. 0 ) A ' 5 ™
13 il
00 :
a3 a7 o | P ‘ =
5_ M-120KC | 1 W w9 '
in+B | —
Material ) Re5|.n rass.
with Nickel plating 01
Order Code Size
M-120KC 6-01-1F - L - = B

Matching tubes = Tube inserting hole

Outer x Inner dia. Hole dia. P Depth C

6-01-1-F 114 4 22.2 18.2 12 3 1/8 6x4 6 16.6
8-01-1-F 27.4 234
13.4 14 8x6 8 17.7

8-02-1-F 6 26.1 20.1 11 1/4
10-01-1-F 26.

M-120KC 00 30.1 6.1 8 1/8
10-02-1-F | 16.4 8 24.1 17 11 1/4 10x7.5 10 20
10-03-1-F 28.6 22.3 12 3/8
12-02-1-F 19.4 8.5 35.2 29.2 21 11 1/4 12 x9 12 226
12-03-1-F 9 31.2 24.9 12 3/8

Fitting Joints dacdoasv (M-120KOC)

R(P

D
P
|-

d‘-=|

M-120KOC - /

Material Resin + Brass
with Nickel plating &

Order Code Size -
M-120KOC 8-02-1-F

Matching tubes = Tube inserting hole

R(PT
(PT) Outer x Inner dia. Hole dia. P Depth C
6-01-1-F | 11.9 22.2 18.2 4 6x4 6 16.6
8-01-1-F 27.4 23.4 5 8 18
—— 139 : : 8x6 8 17.7
M-120KOC | 8-02-1-F 26.1 20.1
6 11 1/4
10-02-1-F| 16.9 29.1 23.1 10x7.5 10 20
12-03-1-F| 20.8 31.2 24.9 8 12 3/8 12x9 12 22.6

l@\ MTS @ MasterTech  © @mis-th

‘\q',’ MASTER TECH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Cooling Joints
docio (JTW / JTWS)

2R
= -
(DRe(PT) [ ) r
\L y — I
A — —
|
R=0.5
dl.s ‘ B
T ¢
- L _
Code Material
JTW Brass Order Code No. x L
JTWS SUS304 JTW 1 x 170

L
5mmincrements 10mm increments

d @ Rc(PT) @ R(PT)

W 1 14 13 10.5 6 10 3.97 9.728 1/8 1/8
ITWS 2 17 16 13.8 8 10 6.01 13.157 1/4 1/4 30-200 210-300
3 21 17 17.3 10 12 6.35 16.662 3/8 3/8

Cooling Joints docionovikdov (JEMF / JEMFR)

. JEMF JEMFR
-.-',' |'
o ©
I &
% '3 l.:'-“l"l.“l 'h-'--'
: : i
d
-HL
Code JEMF / JEMFR Order Code No.
Material Brass JEMF 21
Code No. A B d Qd1 e 1 @® Rc(PT) @ R(PT)
11 14 1/8
12 17 6 A6 10 10 1/8 1/4
21 1/8
JEMF 22 1/4 1/4
JEMFR 23 16 & Os 12 3/8
31 21 6 Q6 . 10 1/8
32 8 Q8 b > 3/8 1/4
33 10 Q10 3/8

© MasterTech @@mts-th (@) MTS

www.mastertechandsystems.com NP MASTER TECH & SYSTEMS

Q) 02-756-0000

i

for Plastic Mold

[
—
c
[]
c
(o]
Q.
£
(¢]
O
°
O
e
c
O
-—
(%]




Cooling Joints
Jocionovikaov (JEMM / JEMMR)

>

@ DR @RPT) JEMM JEMMR
74
>a mm
g. py ﬂmf _ L EB .
a9
2 3 M Mo
53 ”W‘” N2 32
a3 ~ ~
-ﬂih- -ﬂL-
Code JEMM / JEMMR Order Code No.
Material Brass JEMM 22
No. B d Qd1 e 21 @ R(PT) @ R(PT)
11 14 10 1/8
12 157 6 Q6 1/8 1/4
JEMM 13 21 10 12 3/8
JEMMR 22 17 10 1/4
23 N 8 Qs » 1/4 38
33 10 Q10 12 3/8 3/8
Tapered Screw Conversion Plugs
Uocioudavinasd (JEFS / JEFSR)
JEFS

-\ —
_/ﬁ 7.7

(N L
_l_

. €1 | d
_ 30 _ B B
Code JEFS / JEFSR Order Code No.
Material Brass JEFS 12
Code No. B d Qds e 21 @ R(PT) @ R(PT)
i; 17 6 Q6 10 1/8 1/8
JEFS 22 10 1/4
JEFSR 19 8 Qs 1/4
£ 12 3/8
33 22 10 Q10 12 3/8

@\ MTS @ MasterTech  © @mis-th Q 02-756-0000

«» MASTER TECH & SYSTEMS www.mastertechandsystems.com




L-Shaped Swivel Joints
Uociodd L (LSN)

>

(44.5~475) g
t (69 _(16) X
g—E
o.Y
(G
- B
= o
O .
'g e
#For hose &
Code LSN
Material Brass
Order Code No.
LSN 1 _ B

Max. pressure For hose Allen side
Code  No. o (ng em) b e L2 B Qdi  R(PT)
1 36.5 15 75 Q5 1/8 9.5
LSN 2 1.0 (10) 12.6 | 22.5 39.5 ) 19 g6 1/4 12.5
3 42.5 17.75 Q6 3/8 13.5

L-Shaped Swivel Joints daciad> L (LSNM)

_ (455~485) _
L(6~9)17 _

maat A E

(=]
_ AL\ o
*%¢For hose RPTII8 /™~ —

Common to all sizes ' s
a@_/

Code LSNM
Material Brass
Order Code No.
LSNM 1

Code  No. mg;"( ﬁ;‘f*;‘:“m’f) ':)°’ h°5§ Qdi  R(PT)
1 35.5 a6 1/8 9.5
LSNM 2 1.0 (10) 126 | 225 | 385 | 165 20 08 1/4 | 125
3 395 08 3/8 | 135

© MasterTech @@mts-th l@\ MTS

www.mastertechandsystems.com «r, MASTER TECH & SYSTEMS

Q) 02-756-0000




L-Shaped Swivel Joints
Uoddcio L (LSNF)

>

@ Re(P

(2]
-
-9
o o
o

o)
O =
a o
29
0
z3
]
a3
3
—
wn

Code LSNF

Y ETCEE] Brass
Order Code No.

LSNF 1 - -

No. 21 (a) @ Re(PT) @ R(PT)
1 14 Qs 36.5 9.5 16 1/8 1/8
15.75
LSNF 2 19 17 o6 39.5 12.5 20.5 1/4 1/4
3 19 425 | 17.75 | 135 25.5 3/8 3/8

L-Shaped Swivel Joints dacdocio L (LSNFM)

®RcPT) ~_@ _

—F =\
N
S| - B i
! )
-
|
@RPT) It

Code LSNFM
Material Brass
Order Code No.
LSNFM 1

21 (a)  @Rc(PT) @ R(PT)

1 14 Q6 35.5 9.5 17 1/8 1/8
LSNFM 2 20 17 08 38.5 16.5 12.5 20.5 1/4 1/4
3 19 39.5 13.5 24 3/8 3/8

O,
(@) MTS @ MasterTech  © @mis-th Q 02-756-0000

N7 MASTER TECH & SYSTEMS www.mastertechandsystems.com




L-Shaped Swivel Joints
Uociocd L (LSP)

>

I 12 ..g
1% Socket connection section 2o
N 22
E (6]
=} S %
0%
— T =
ﬁ — - o
O .
~ ! 35
- S
(75)
R =y
Code LSP -
Material Brass ™ .
Order Code No. &
LSP 1

Socket connection parts

Code No. Matching Sockets L1
1 Mold Coupler Series 36.5 Qe 1/8 9.5
f 15.75
LSP 2 | Seckethole diameter 8 15 39.5 19 14 | 125
V=8 0s
3 Common to all sizes 42.5 | 17.75 3/8 13.5

L-Shaped Swivel Joints dociod> L (LSPM)

3% Socket connection section _ ¢ _, 129

R

e | S IS
~y (LT ]4
R(PT -

Material Brass : W= @
=

Order Code No.

LSPM 1 23.1
. Socket connection parts Allen
Code No. Matching Sockets 5 e L1 side B Od R(PT) 21
1 Mold Coupler Series 35.5 Q6 1/8 9.5
LSPM 2 g Koo meter 8 15 385 | 165 | 20 /4 | 125
V=8 oF:]
3 Common to all sizes 39.5 3/8 13.5

Q 02-756-0000 O MasterTech  © @mts-th (@} MTS

www.mastertechandsystems.com NP MASTER TECH & SYSTEMS




Kudadudu
uuwuwlan:

Standard Components for Press Dies




Guide Post Sets (GPS)

nalwan sdasssual

A
|
el

Order Code d x L g I
GPS 20 x 100 e i =
Code d L
20 80 90 100 110 120 130 140 150
25 80 90 100 110 120 130 140 150 160 170 180 200
32 100 110 120 130 140 150 160 170 180 200 220 250
GPS 38 120 130 140 150 160 170 180 200 220 250 280 300
50 160 170 180 200 220 250 280 300 350
60 180 200 220 250 280 300 350 400
80 250 280 300 350 400 450
100 300 350 400 450 500

Guide Post Sets (GPSP)

Indlwan sdaidslawa

Order Code d x L

GPSP 20 x 100 1 BN

20 80 90 100 110 120 130 140 150
25 80 90 100 110 120 130 140 150 160 170 180 200
32 100 110 120 130 140 150 160 170 180 200 220 250
GPSP 38 120 130 140 150 160 170 180 200 220 250 280 300
50 160 170 180 200 220 250 280 300 350
60 180 200 220 250 280 300 350 400
80 250 280 300 350 400 450
100 300 350 400 450 500

e

0 MasterTech @ @mts-th y/ N

B MTS

www.mastertechandsystems.com ‘«» MASTER TECH & SYSTEMS

Q) 02-756-0000

[
—
c
o
c
[o]
Q.
£
(¢]
O
2
O
©
c
O
=
(%]

for Press Dies




wn
—r
Q
o
S 9
?D.
g &
(7]

Ua
=."0
28
(1]
=
—r
"]

Ball Bearing Guide Post Sets (GPSB)

Indlwanuuudaonanduwardadn sdasssuan

Order Code d x L

GPSB 20 x 100

GPSB

20 90 100 110 120 130 140 150 160

25 90 100 110 120 130 140 150 160 170 180 200

32 110 120 130 140 150 160 170 180 200 220 240 250 260

38 130 140 150 160 170 180 200 220 240 250 260 280 300

50 170 180 200 220 240 250 260 280 300 350

Ball Bearing Guide Post Sets (GPBP)

Indlwanuuudaonanduwardadn sdaislawa

Order Code d x L z

GPBP 20 x 100

GPBP

20 90 100 110 120 130 140 150 160

25 90 100 110 120 130 140 150 160 170 180 200

32 110 120 130 140 150 160 170 180 200 220 240 250 260

38 130 140 150 160 170 180 200 220 240 250 260 280 300

50 170 180 200 220 240 250 260 280 300 350

(@) MTS @ MasterTech  © @mis-th

NP MASTER TCH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000



Straight Punches
wudsaso SKD11 (PD)

3 3.5 5.5
R F° 4 7
a 4.5 6.5
5 8
o~ 5.5 7.5
oo
[ - - 6 9 P
I 6.5 8.5 c
PD 7 10 405060 708090100 2 »
T+g~3 8 11 32
9 12 £
a [¢) (23
L "'E 3 10 13 O 9
11 14 T
1
12 15 3.9
Code PD 13 16 g
Material SKD11 14 17 5
Hardness 60 - 62 HRC 15 18
16 19
Order Code D x L 18 >1
PD 5 x 100 20 23
25 28
L] :: -
Straight Punches wusasv SKH51 (PH)
Code D H L
1 2
15 3 4050 60
2 4
2.5 4.5
3 5 40506070 80
E. 3.5 5.5
[=T=] 4 7
H ; 4.5 6.5
e -
o~ 5.5 7.5
=h:|r _ - 6 9
— 6.5 8.5
PH 7 10
T+Ei.3 8 11
? +0.2 > -2
L . 10 13
0 11 14 405060 708090100
12 15
Code PH 13 16
Material SKH51 14 17
Hardness 61 -64 HRC 15 18
16 19
Order Code D x L 18 21
PH 25 x 100 20 23
25 28
R
0 MasterTech @ @mts-th y/

B MTS

www.mastertechandsystems.com ‘«» MASTER TECH & SYSTEMS

Q) 02-756-0000




Stripper Guide Pins

daasdwdosinawu (SGPH)

5 +g.3 H
i e
Ei - - 1=
o = TT
B Code SGPH [ =X
Y EYCIE] SuUJ2 ket -
Hardness 58 HRC ~ CK B
(_I._) I. +0.3
g Order Code D x L . i] N
é"' g— SGPH 25 x 100
n g
8 o D Dm5 R ) L
23 8 8 | +0.012 10 |40 50 60 70 80
U5 1.0
2o 10 10 | +0.006 13 |40 50 60 70 80 90 100
2 SGPH 13 13 [+0.015 | 16 |40 50 60 70 80 90 100 110 120
& 16 16 | +0.007 : 20 50 60 70 80 90 100 110 120 130 140
20 20 [+0.017 [ 4 25 60 70 80 90 100 110 120 130 140
25 25 | +0.008 ' 28 70 80 90 100 110 120 130 140
Stripper Guide Pins
daasdwosinawu (SGOH) 5403
0

D+3
D||'n5

. R
e 6

Code SGOH Number of grooves
Material SUJ2 0 0~ 70~ 80~ 90~ 160~ 180~
Hardness 58 HRC ~ 2 3
10 2 3 4 5 6 - -
Order Code D x L 13 2 3 4 5 6 7 8
SGOH 20 x 100 16 2 3 4 5 6 7 8
20 2 3 4 5 6 7 8
25 2 3 4 5 6 7 8
D) Dm5 R B L
8 8 +0.012 10 40 50 60 70 80
1.0
10 10 | +0.006 13 40 50 60 70 80 90 100
SGOH 13 13 | +0.015 15 16 40 50 60 70 80 90 100 110 120
(With Oil Grooves) 16 16 | +0.007 ) 20 50 60 70 80 90 100 110 120 130 140
20 20 | +0.017 20 25 60 70 80 90 100 110 120 130 140
25 25 | +0.008 ) 28 70 80 90 100 110 120 130 140

(@) MTS @ MasterTech  © @mis-th

NP MASTER TCH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




High Rigidity Stripper Guide Pins

dasuwasinawuuuvuudvunsvgo (SGPWS)

1
N\ ' o]
ik N | ) §FEEEE =]
N E—— 1 (L EEEEET 77
Code SGPWS . | R
Material SuJ2 2 | . B .I_*H
Hardness 58 HRC ~ LB LA
Order Code D x LA x LB
SGPWS 25 x 90 x 60 - 90
Mx € LB B
Code = U i Pitch 2 10mm increments  1mm increments
M6 x 25 70 30 -60
16 P10 80 30-70
3 ) ) 90 40 - 80
80 40-70
ZG?“:S) 20 90 40-70 10-30
traight M8x25| 100 50 - 80
P1.25 90 50-70
25 4 3 100 50 - 80
110 60 - 90
(] [ ] (] (] (] [ ] [ ]
High Rigidity Stripper Guide Pins
— o [~ ]
daasdwosinawuunuuudounsvgo (SGPWH)
o=
[=T=] H
uxt s W o
_.___:}_\::p. b= E====g =1
— { — 2=
EE=====k =] b S = ]
Code SGPWH o
Material SuJ2 a=
Hardness 58 HRC ~ 5 B U
Order Code D x LA x LB LB LA
SGPWH 25 x 90 x 40 -70
Mx#e LB
Code R Pitch LA 10mm increments 1mm increments
M5 x 22 60 30-50
13 2 15 PO S 70 30 -60
) 80 40 - 60
M6 x 25 70 30-60
16 P10 80 30-70
SGPWH 3 2 ) 20 40 - 80 10-30
(Flanged) 80 40 -70
20 20 40-70
M8 x 25 100 50 - 80
P1.25 90 50-70
25 4 3 100 50 - 80
110 60 - 90

© MasterTech @@mts-th (@) MTS

www.mastertechandsystems.com NP MASTER TECH & SYSTEMS

Q) 02-756-0000

[
—
c
o
c
o]
Q.
£
(¢]
(9]
2
O
©
c
O
=
(%]

for Press Dies




wn
—
Q
g
S 9
?D.
g &
(7]

Ua
=."0
28
(1]
=
—r
"]

Stoppers For Ball Cages
adoUwosdrSudaonandu (SSTK)

Code
Material
Surface

A

D M

-

SSTK

S45C

Order Code No. x S

Black oxide

SSTK 25 x 30-60

@®CB @Spring washer

)

1mm increments D o
13 10-20 15 12 6.5 5
e
- 11 8

25 11-30 29 24

Clamps For Stripper Guide Pins

unauddnsSuaasuiuosinawu (FCLP)

FCLP 5 4

Code
Material

Surface
A

@ M1s

WqP,¥ MASTER TECH & SYSTEMS

Y

FCLP

S45C

Order Code T x M

Black oxide

SCLP 5 x 4

CB4-10

o MasterTech @ @mts-th

www.mastertechandsystems.com

Q) 02-756-0000



Stripper Guide Bushings

dasdwosindusso
@ #0.01
SGBA 15 O] #0.01]A] Code d Dns
i el v
yi 10 T34 0% Ho s e 30 35
. 8 13 1180921371620 25
= - fa SGBA 16 22 | +0.024 16 20 25 30
= 20 | 25 | +0.015 20 25 30
+0.028
__________ J— 25 |32 |.5017 25 30 35
—0.03
3\ D—005
E 0 el SGBA Order Code d x L
L—q2 Material SuUJ2 SGBA 25 x 35
Hardness 58 HRC ~ X o
c
2
o 8
; g8
SGBH 15 ©f #0.01]A] Code d Dim5 L o4
I A 8 12 | ,0.015 |10 13 16 20 Vo
/u&z 10 |14 +0'007 10 13 16 20 22 25 2T
- C g 13 |18 | 13 16 20 22 25 30 35 39
+ = ac IE SGBH 16 22 | +0.017 13 16 20 22 25 30 35 c
o || B2 +0.008 =
= 20 25 . 16 20 22 25 30 35 172)
+0.020
_: -------- -—; _DD; 25 32 +0.009 20 22 25 30 35
+0.3 D—n.05 [i|
30 3 [ SGBH
’ ) - Order Code d x L
L-oz Material SuUJ2 SGBH 25 x 35
Hardness 58 HRC ~ X
Code d Dha L
8 12 0 10 13 16 20
10 14 -0.005 10 13 16 20 22 25
13 18 ) 13 16 20 22 25 30 35
SGBL 16 22 0 13 16 20 22 25 30 35
20 | 25 | -0.006 16 20 22 25 30 35
0
25 32 -0.007 20 22 25 30 35
Cod SGBL
Ma:e:al SU2 Order Code d x L
Hardness 58 HRC ~ SGBL 25 x 35
Code d Dha L
8 12 0 10 13 16 20
10 [14] (o5 [0 13 16 20 22 25
o 13 | 18 ) 13 16 20 22 25 30 35
é SGBT 16 22 0 13 16 20 22 25 30 35
20 25 | -0.006 16 20 22 25 30 35
- 0
- 25 32 .0.007 20 22 25 30 35
Code SGBT
Material SuJ2 Order Code d x L
Hardness 58 HRC ~ SGBT 25 x 35
y D
0MasterTech @@mts-th y/

B MTS

www.mastertechandsystems.com ‘«p, MASTER TECH & SYSTEMS

Q) 02-756-0000




Stripper Guide Bushings

— -~ —.
dasuosindausso
SGBBW §
1 ©lg0.01]A]
’{;. 17 13 24 30 35
o) I o 20 16 28 | 0 35 40
= - §§ SGBBW 26 20 34 | -0.005 40 45 50
[ ] 31 25 40 45 50 60
= =]
—— I h; ) Mcct,de' i SSSEW Order Code d x L
.- .,..|...,. —.03 ateria
B [A] L-3, 3| \D=008 Hardness 58 HRC ~ SGBBW 20 x 35
(%)
==
Q
=a
9 a
- d 6
3O 15; [S] ¢ 0.01]A] Code d PD Dha L
(7] le) PR 0
(7]
o3 /ﬁ 14 10 18 | o005 | 202530
=."0 02
® 0 o 17 13 22 0 20 25 30
a = _| = SGBBS 20 16 26 | 5006 25 30 35
3 (= 7T 26 20 31 ' 25 30 35 40
L o=
31 25 37 _g 007 35 40
k. -
1 —0.03
il 3 \D_n-ﬂﬁ ode SGBBS Order Code d x L
I-‘n"_-l 0 Material SuJ2
L—02 Hardness 58 HRC ~ SGBBS 20 x 40
[
SGBBH __w (el go0t1]a] Code  d PD Dha L
Y- 14 10 | 18 | o . |202530
02 .
L] 88 17 13 22 a 20 25 30
+ - == SGBBH 20 16 26 | 1006 25 30 35
e 1= 26 20 | 31 | 25 30 35 40
0
________ = _u u;; 31 25 37 | 0007 35 40
308 [3\D=0ss [
0 Code. SGBBH Order Code dx L
L—02 Material SuJ2 G 20 o
- Hardness 58 HRC ~ BBH x 4

l@\ MTS @ MasterTech  © @mis-th

‘\q',’ MASTER TECH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Ball Cages

Jaonanduoaidsy / 1sBu

b
[=
2
©) ©) o8
g-o
o ("]
(%]
O g
_ __ 'E o
jp— -—Il—— _:-—Il—— U b=
I [} I ] -gug
O
_ |- - _ |- [ - =
(am] (== n
. o--© jam o. . o--© o.
o -© o -©
___________________ | - e | -
Code MBSH / MBJH Code MBS / MBI
Material SuJ2 Material SuJ2
Hardness 62 - 67 HRC Hardness 62-67 HRC
Order Code d x L Order Code d x L
MBSH 20 x 50 MBS 20 x 50
MBJH 32 x 10 MBJ 32 x 10

Number of balls

PD Outer diameter Inner diameter Ball diameter
Post diameter @D @D1 mgf Ratio
20 50 20 25.5 20.5 165 96 1.72
50 180 112 1.61
+0.020 y .
22 60 22 +0.015 s g2 3 228 140 1.63
75 60 25 : 30.5 255 266 160 1.66
MBSH 75 ) ) 350 208 1.68
" 60 204 112 1.82
(Aluminum)
MBIH 28 75 28 +0.025 355 28.5 . 250 154 164
) 75 +0.020 294 176 1.67
‘:;;';’ 32 90 32 395 325 350 | 208 | 1.68
75 238 144 1.65
(Aluminum) — 90 X +0.030 Wl S 280 176 1.67
MBJ 90 +0.025 320 198 1.70
(Rasin) 45 110 4> >4.5 455 5 400 234 1.71
90 360 220 1.72
>0 110 >0 | 40,035 >9-5 >0-5 450 260 1.73
90 +0.030 400 242 1.74
60 110 60 69.5 og> 500 286 1.75
>
0 MasterTech @ @mts-th y/

B MTS

www.mastertechandsystems.com ‘«p, MASTER TECH & SYSTEMS

Q) 02-756-0000




Ball Cages
Jaonandunovoinaov (EMBS)

) TN P OO P OO OO |

2 | — =2
(=]
E _e___e_,gr—-& o oo
o 0 ltmmmmmmmmmmmmem e —E'_'h'
g Code EMBS
Te Material suJ2 L
- Hardness 62 - 67 HRC - =
2N
40 Order Code d x L
o3 EMBS 165 x 50
88
3 No. d1 d L Ball Dia.
3 8 8.5 11.5 [25 30 35
10 10.5 13.5 |25 30 35 40
13 13.5 16.5 35 40 45 50 55 60 70
EMBS 16 16.5 19.5 35 40 45 50 55 60 65 70 2
20 20.5 23.5 35 40 45 50 55 60 65 70
25 25.5 28.5 35 40 45 50 55 60 65 70
30 30.5 335 35 40 45 50 55 60 65 70

O,
(@) MTS @ MasterTech  © @mis-th Q 02-756-0000

N7 MASTER TECH & SYSTEMS www.mastertechandsystems.com




Urethanes
gsSinuunonau

a
[5]n]

dindounuuiig

UTH 100 30
20 8.5
25 11
30 14
35 14
40 14 500
50 14
60 14
80 22
100 22
arnmuuis

——

Code D d L
10 - -

15 7
20 8.5 300
25 11
30 14
HUTH i 2
50 14
60 12 500
80 22
100 22

Q) 02-756-0000

dinaoavnuuau

Order Code D x L
UTS 60 x 300

—

Code D L
10

12
15
20
25
30
35
40
50
60
uTsS 80
100
20
25
30
35
40 500
50
60
80

100

300

AAMuuAu

S

Code D L
10

300

15
20
25
30
40
50
60
80
100

HUTS
500

© MasterTech @@mts-th l@\ MTS

www.mastertechandsystems.com «p,’ MASTER TECH & SYSTEMS

[
—
c
o
c
o]
Q.
£
(¢]
(9]
2
O
©
c
O
=
(%]

for Press Dies




wn
—
Q
g
S 9
?D.
g &
(7]

Ua
=."0
28
(0]
=
—r
"]

Urethanes
gSINULLAU

—l

S 2

@ M1s

MASTER TECH & SYSTEMS

Order Code T x W x L | | IT|
HUE 5 x 300 x 1,000 ' ! '
Code T W x L
1
Code T WxL HUE 2
5 L
10 (dmaoy) 3 300 x 1,000
1 HUTE 4
20 (@sin) 2
HUE 25
(Ainaov) :‘5) Code T WxL
HUTE 35 300 x 300 3
(8sin) 50 10
60 aHle ;(5)
70 (dinao) 500 x 500
= HUTE 25 X
A1
100 (&@ein) -
50
Urethanes g3Sinuuriviknasy
l
|
|
1 1
|
w L
Code T W L
300
URYT 25 25 500
Order Code T x W x L (dinaov) 50 50 300
URYT 25 x 25 x 300 URBT 500
(@ein) 300
50 75 =00

o MasterTech @ @mts-th

www.mastertechandsystems.com

Q) 02-756-0000




SRRy,

2
0,
>
("
G
0
=
=

Die Springs

sy




High Deflection Springs
ausvdurd (TR)

—
L
T
A —
" Order Code OD x L
= TR 32 x 100
i
T —
Code oD ID L
14.5 9 |20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
17 11 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150
21 13 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150
TR 26 16.5 30 35 40 45 50 55 60 65 70 75 80 90 100 110 125 150 175 200
32 21 40 45 50 60 70 80 90 100 110 125 150 175 200 250 300
39 26 40 45 50 60 70 80 90 100 110 125 150 175 200 250 300
46 32 50 60 70 80 90 100 110 125 150 175 200 250 300

High Deflection Springs ausv&uov (TY)

c

v TY 19 x 90

()]

(2]

-

3. Code OD _ID L

S 14.5 9 |20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125

Q@ 17 11 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150

» 21 13 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150

TY 26 16.5 30 35 40 45 50 55 60 65 70 75 80 90 100 110 125 150 175 200

32 21 404550 60 70 80 90 100 110 125 150 175 200 250 300
39 26 40 4550 60 70 80 90 100 110 125 150 175 200 250 300
46 32 50 60 70 80 90 100 110 125 150 175 200 250 300

High Deflection Springs ausv&idaosou (MRS)

Order Code OD x L
MRS 31 x 100

oD ID L
17 11 |25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150
21 14 30 35 40 45 50 55 60 65 70 75 80 90 100 110 125 150
MRS 26 17 30 35 40 45 50 55 60 65 70 75 80 90 100 110 125 150
31 21 40 50 60 70 80 90 100 110 125 150
39 26 40 50 60 70 80 90 100 110 125 150 175 200
46 32 40 50 60 70 80 90 100 110 125 150 175 200 250

l@\ MTS @ MasterTech  © @mis-th

‘\q',’ MASTER TECH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Ultra High Deflection Springs
ausvdilduooou (SWY)

- Light Load Heavy
— der Code OD x L GEENRNNRENNEED;
= Order SWY
s SWY 30 x 100
—
T -
Code oD ID L
11 7 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
12.5 8.5 |20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125
16.5 10.5 | 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 150
SWY 20.5 135 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150
24.5 16.5 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 175 200
30 21 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 160 170 175 180 190 200 250 300
37 26 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150 160 170 180 190 200 225 250 275 300
42 31 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200 225 250 275 300

Ultra Deflection Springs ausvawioou (SWU)

e — ] Light Load Heavy
--—-'—:I ¢ )
—_—
=3 (O IIIIIIID
Order Code OD x L SWU
g SWU 42 x 100
Code oD ID L
10.5 6 15 20 25 30 35 40 45 50 55 60 65 70 75 80
12.5 7 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
14.5 8.5 |15 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 150
17 10.5 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 150 175
SwWu 21 13.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 175 200
26 16.5 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 175 200 225 250
31 21 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 160 170 175 180 190 200 250 300
37 26 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150 160 170 180 190 200 225 250 275 300
43 31 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200 225 250 275 300

High Deflection Springs ausvdu1ovidio (SWR)

Light Load Heavy
L
Order Code OD x L SWR
SWR 50 x 120
Code oD ID L
10.5 6 |15 20 25 30 35 40 45 50 55 60 65 70 75 80
12.5 7 [15 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
14.5 8.5 |15 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150
17 10.5 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175
21 13.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 175 200
SWR 26 16.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 175 200 225 250
31 21 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 160 170 175 180 190 200 250 300
37 26 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 160 170 175 180 190 200 250 300
43 31 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200 225 250 275 300
46 33 50 60 70 80 90 100 110 120 125 130 140 150 175 200 225 275 300
50 36 50 60 70 80 90 100 110 120 130 140 150 175 200 225 250 275 300 350 400

© MasterTech @ @mts-th l@} MTS

www.mastertechandsystems.com ‘«»

Q) 02-756-0000

MASTER TECH & SYSTEMS

Ie

(2]
o))
=
L
Q.
70/
2
a




Medium Deflection Springs

aUSLEAU (SWS)
— Light Load Heavy
Order Code OD x L (||S|W|S|||||||||)
SWS 46 x 130

Code oD ID L
10.5 5.5 [20 25 30 35 40 45 50 55 60 65 70 75 80
12.5 6.5 [20 25 30 35 40 45 50 55 60 65 70 75 80
14.5 8.5 |20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150
17 10.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150
21 13.5 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 175 200

SWS 26 16.5 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 175 200 225 250
31 21 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 160 170 175 180 190 200 250 300
37 26 40 45 50 55 60 65 70 75 80 90 100 110 120 125 130 140 150 160 170 175 180 190 200 250 300
44.5 31 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200 225 250 275 300
46 33 50 60 70 80 90 100 110 120 125 130 140 150 175 200 225 250 275 300
52 37 60 70 80 90 100 110 120 130 140 150 175 200 225 250 275 300

Medium Deflection Springs ausvaiovsou (SWC)

Cc

Light Load Heavy
o) Order Code OD x L (Illsecllllllll)
(D SWC 46 x 130
(2]
-
:.
= | oD ID L
@ 6 3 |15 20 25 30 35 40
» 8 46 |15 20 25 30 35 40 45 50 55 60 65 70 75 80
10 5.8 |15 20 25 30 35 40 45 50 55 60 65 70 75 80 90
12 7.4 20 25 30 35 40 45 50 55 60 65 70 75 80 90
14 8.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100
SWC 16 9.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
18 11 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
20 12.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150
22 13.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150
25 16 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
27 17.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
30 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200

(@) MTS @ MasterTech  © @mis-th

NP MASTER TCH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Yellow Die Springs
ausvdawmaov (SWF)

& Light Load Heavy
LR D
g Order Code OD x L SWF
SWF 30 x 100
Code oD ID L
6 3 10 15 20 25 30 35 40
8 4 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90
10 5 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 300
12 6 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 300
14 7 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
16 8 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 300
18 9 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
20 11 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 300
SWF 22 11 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175
25 13.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 300
27 13.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175
30 16 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 300
35 19 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 250 300
40 22 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 225 250 275 300
50 27.5 50 55 60 65 70 75 80 90 100 125 150 175 200 225 250 275 300 350 C
60 33 60 70 80 90 100 125 150 175 200 225 250 275 300 350 400 E—
70 38.5 100 125 150 200 225 250 300
)
[ ] [ ] — — ‘6 —
Blue Die Springs ausv&duiisu (SWL) £
ol
Light Load Heavy n
anomo f -2
= Order Code OD x L SWL Q
= SWL 30 x 120
Code oD ID L
8 4 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90
10 5 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 300
12 6 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 300
14 7 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
16 8 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 300
18 9 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
20 10 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 300
SWL 22 11 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175
25 12.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 300
27 13.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
30 15 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 250 300
35 17.5 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 250 300
40 20 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 225 250 275 300
50 25 50 55 60 65 70 75 80 90 100 125 150 175 200 225 250 275 300 350
60 30 60 70 80 90 100 125 150 175 200 225 250 275 300 350 400
70 38.5 100 125 150 200 225 250 300

Q 02-756-0000 O MasterTech © @mts-th l@} MTS

www.mastertechandsystems.com ‘«»

MASTER TECH & SYSTEMS




Red Die Springs
audsvauav (SWM)

Light Load Heavy
Order Code OD x L (llllllsv!MHlll)

SWM 30 x 100

Code oD [») L
8 4 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90
10 5 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
12 6 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
14 7 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
16 8 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
18 9 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
20 10 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175
SWM 22 11 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150
25 12.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175
27 13.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
30 15 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 250
35 17.5 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 250
40 20 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 225 250 275 300
50 25 50 55 60 65 70 75 80 90 100 125 150 175 200 225 250 275 300 350
C 60 30 60 70 80 90 100 125 150 175 200 225 250 275 300 350 400

Green Die Springs

S 9ld

ausvawued (SWH)

O
=
=

Q
»

Light

GEERENNEN NEED;

SWH

Load Heavy

Order Code OD x L
SWH 30 x 120

Code (e]») [[») L
8 4 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90
10 5 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
12 6 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
14 7 25 30 35 40 45 50 55 60 65 70 75 80 90 100
16 8 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
18 9 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
20 10 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175
SWH 22 11 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175
25 12.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
27 13.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
30 15 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
35 17.5 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
40 20 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 225 250 275 300
50 25 50 55 60 65 70 75 80 90 100 125 150 175 200 225 250 275 300 350
60 30 60 70 80 90 100 125 150 175 200 225 250 275 300 350 400

XX
O MTS
‘«',’ MASTER TECH & SYSTEMS

0 MasterTech @ @mts-th

www.mastertechandsystems.com

Q) 02-756-0000



Brown Die Springs
ausvdurma (SWB)

Light Load Heavy

D

Order Code OD x L
SWB 30 x 100

SWB

Code oD [») L
8 4 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90
10 5 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
12 6 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
14 7 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
16 8 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
18 9 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
20 10 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175
SWB 22 11 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175
25 12.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
27 13.5 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
30 15 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
35 17.5 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 250
40 20 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200 225 250 275 300
50 25 50 55 60 65 70 75 80 90 100 125 150 175 200 225 250 275 300 350 C
60 30 60 70 80 90 100 125 150 175 200 225 250 275 300 350 400

Black Die Springs ausvaadi (SWG) §>
=

Light Load Heavy Q_

‘ ‘ (72

Order Code OD x L <||||||||||S|W|G|) .d_)

(]

SWG 30 x 100

Code oD ID L
10 5 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
12 6 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
14 7 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
16 8 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
18 9 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100
20 10 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
SWG 22 11 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
25 12.5 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125
27 135 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150
30 15 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
35 17.5 30 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
40 20 35 40 45 50 55 60 65 70 75 80 90 100 125 150 175 200
50 25 50 55 60 65 70 75 80 90 100 125 150 175 200

o MasterTech @ @mts-th l&} MTS

www.mastertechandsystems.com ‘\qp, MASTER TECH & SYSTEMS

Q) 02-756-0000




| KUDQANS

Screws




Eye Bolts
o18luan (CHI)

Code CHI Order Code M
Material SS400 CHI 10
- E -
r’_\‘\ A Type B Type
L Vertical lifting 45" lifting
T
- i i
%..=-¢”
N | P—
Code M Mxp a b H e A Type & B Type
8 8x1.25 32.6 20 33.3 15 80 (Kg)
10 10x1.5 41 25 41.5 18 150 (Kg)
12 12x1.75 50 30 51 22 220 (Kg)
16 16 x2.0 60 35 60 27 450 (Kg)
CHI 20 20x2.5 72 40 71 30 630 (Kg)
24 24 x3.0 90 50 90 38 950 (Kg)
30 30x3.5 110 60 110 45 1500 (Kg)
36 36x4.0 133 70 132 55 2300 (Kg)
42 42 x4.5 151 80 151 65 3400 (Kg)
48 48 x 5.0 170 90 170 70 4500 (Kg)

© MasterTech @@mts-th l@\ MTS

www.mastertechandsystems.com «p,’ MASTER TECH & SYSTEMS

Q) 02-756-0000




Hook (Plate Type)
KROWLWUW (CHP)

CHP 50 2-gg A-cl3

- 3 e
il
i ] i I
o N I
- - H g 4 —@g
T U CHP 80 P
! \e q—_ 7 \:/a—ma
CHP 63 30 ﬂ} - /)
~
g 2
r ™ _ I . P R Iy
SR )™ e ol
Pl B 97 OO ] [T
E 30‘" = I = L_A
_@_ i\ L Pso2 B | B | & 0
A L0
N |/ 7 —oz
P:oz | [ %] [4] IE; 0 T=14
A .I.:ﬂ-ﬁ
L L0
Code CHP Order Code D
Material 55400 CHP 25
N/piece {kgf/piece}
b d B T L A &1 &2 &3 P €  For steel, safety factor 10
10 28 28 18 50 32 10 8 8 16 7 1569 {160}
12 32 32 20 56 38 10 8 10 18 9 3530 {360}
16 36 36 24 67 46 13 8 12 22 11 4511 {460}
20 40 | 40 26 88 60 18 10 15 30 14 5492 {560}
CHP 25 48 48 35 92 60 20 12 15 30 14 6570 {670}
32 55 55 40 | 118 | 80 25 13 20 | 40 18 12160 {1240}
40 70 70 50 [ 138 | 93 30 15 24 | 45 22 19123 {1950}
50 - 90 50 | 170 | 115 | 35 20 30 55 26 27459 {2800}
63 - 115 | 50 | 175 | 115 | 40 20 30 55 26 39227 {4000}
80 - 140 | 50 | 185 | 120 | 40 25 30 60 26 50995 {5200}

O,
(@) MTS @ MasterTech  © @mis-th Q 02-756-0000

MASTER TECH & SYSTEMS www.mastertechandsystems.com

2




Stripper Bolts
daasdwoslvan (MSB)

I M:p
(] /_
— . R = [ |
H=¢" | |
B C
A E L+oa F
Code MSB Order Code D x L
Material SCM435 MSB 16 x 100
Code D L
4.5 10 15 20 25 30 35 40 45 50
5.5 10 15 20 25 30 35 40 45 50
6.5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80
8 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 100 110
MSB 10 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 110 120
12 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100
13 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 110 120 130 140
16 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 110 120 130 140 150
20 40 45 50 55 60 65 70 75 80 85 90 95 100 110 120 130 140 150
Des A ] (¢ E F Mx p
45 | -0.020 7 2.5 1.6 3 6 3x0.5
5.5 | -0.050 9 3 2.2 4 7 4x0.7
65 | 5025 10 4 2.5 5 9 5x0.8
8 13 5 3 6 9 6x1.0
10 -0.061 16
5 T 6 4 8 12 8x1.25
-0.032
13 0.075 18 8 5 10 16 10x1.5
16 : 24 10 7 14 18 12x1.75
20 -0.040 27 14 9 18 24 16 x2.0
-0.092
L] — -
Stripper Bolts ansuwostuan (MSBL)
M P
y 4 an
=
- (H\ :
K
C
= g
E L+002 F
L
Code MSBL Order Code D x L
Material SCM435 MSBL 25 x 114
Code D L Des A B (o E F M x P
6.5 10-70 65 | 0025 10 4 2.5 5 9 5x0.8 7
8 10 - 90 8 _0'061 13 5 3 6 9 6x1.0 8.7
10 10-120 10 ) 16 6 4 8 12 8x1.25 10.8
MSBL 13 10-130 13 -0.032 18 8 5 10 16 10x1.5 14
16 15 - 150 16 -0.075 24 10 7 14 18 12 x1.75 17
20 15 - 150 20 -0.040 27 14 9 18 24 16 x2.0 21
25 30-160 25 -0.092 33 17 11 19 30 20x2.5 26
y D
0 MasterTech @ @mts-th y/

Q) 02-756-0000

) MTS
‘«p,’ MASTER TECH & SYSTEMS

www.mastertechandsystems.com




Screw Plugs
Janaa (MSW)

&
NSSZRER

*
-

B L
Code MSW Order Code M
Material SCM435 MSW 16
Code Mx p L t B
0.45 3 1.3
1.2
0.5 3 1.5
0.7 4 1.5 2
0.8 5 2 2.5
1.0 6 3.5 3
1.25 8 5 4
6 5
6
10
5.5 3
10
MSW 22 22 12
24 24
25 25
26 26 1.5 12 6 14
27 27
28 28
30 30
33 33
36 36
38 38 17
40 40 18 10
42 42
45 45

(@) MTS @ MasterTech  © @mis-th

NP MASTER TCH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Tapered Screw Plugs
Jananstnwos (MSWT)

& Position of Gauge Dia.
R 7T

« After Tightening

=

Thread: JES BO203 R (PT)

Code: MSWT Order Code D
Material SCM435 MSWT 16
Surface Black Oxide
. D) a L B t R (PT)
J 7.723 0.45 6 4 3.0 1/16
1 9.728 0.45(1.5) 7 (8) 5 3.5(5) 1/8
2 13.157 0.7 (1.8) 8.9 (11) 6 4.5 (7.6) 1/4
MSWT 3 16.662 0.7 (2.0) 10 (12) 8 5(8) 3/8
4 20.955 0.9 12 10 6 1/2
6 26.441 ) 14 14 7 3/4
8 33.249 1.1 16.5 17 9 1

Flat Washer (FW) / Spring Washer (SW#1 / SW#2)

uKouDuU: / ukduausolu / usduausvuon

unduduU: unduausvolu uknduadsvuoan
Code Size ~ ODxT

M3 8x0.8 M3 M3
M4 10x0.8 Ma M4
M5 12x0.8 M5 M5
M6 13x1.0 e Ll
FW SWi1l M8 SWi#2 M8
M8 18x1.2 M10 M10

M10 22x1.6 M12 M12

M12 24x1.6 M16 M16

M16 32x2.5 M20 M20

Order Code Size Order Code Size Order Code Size

FW M3 SW#1 M3 SW#2 MI10

Q 02-756-0000 0 MasterTech @ @mts-th l@}h‘ M:!:§Ms

www.mastertechandsystems.com



Socket Head Cab Screws
anskoou (CB)

Mxp

A
H— =
# - H - -
T
S A
£
E L
COde_ cB Order Code D x L
Material SCM435 cB 25 x 100
Hardness 38 -43 HRC~
Code M Mxp L
3 3x0.5 6 8 10 12 16 20 25 30 35 40 45 50
4 4x0.7 6 8 10 12 16 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150
5 5x0.8 6 8 10 12 16 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150
6 6x1.0 10 12 16 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150
8 8x1.25 10 12 16 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150
10 10x1.5 16 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150 160 170 180 190 200
B 12 12x1.75 16 20 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150 160 170 180 190 200 210 220 230 240 250
14 14 x2.0 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150 160 170 180 190 200
16 16 x2.0 25 30 35 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150 160 170 180 190 200 210 220 230 240 250 300
20 20x2.5 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150 160 170 180 190 200 210 220 230 240 250 300
22 22x2.5 40 45 50 55 60 65 70 75 80 90 100 110 120 130 140 150 160 170 180 190 200 210 220 230 240 250 300
24 24 x3.0 50 60 70 75 80 90 100 120 140 150 160 170 180 190 200 210 220 230 240 250 300
30 30x3.5 50 60 70 80 90 100 120 140 150 160 170 180 190 200 230 250 300
36 36 x4.0 80 90 100 120 140 150 160 170 180 190 200 230 250 300

Socket Head Cab Screws ansrkoouiaiUas (FB)

15 Full

20 " Thread
x 764 | 800 | 216 | 230 | 25 ea

0.7

14

5-10
2
15
16 M5
M P 20 x 964 | 1000 | 266 | 280 | 30 | 'read

25 0.8
30
35
40
6-10
12
FB 15

B L | ;g M6 Full
x 11.57 12.00 3.12 3.30 4.0 Thread

25 1.0
30 .

35
Code FB 40

5 45 18
Material SuJ2 8-15

HRC60+2 20

25 M8 Full
Order Code D x L 30 - 1557 | 1600 | 422 | 440 | so | Thread

35
FB 25 x 100 20 1.25
45

50

Full

i
-

16

-~ g

.
-

14D
A
! T
L

22

Full

10-20 M10x1.5 | 19.48 20.00 5.32 5.50 6.0
Thread

e

'/ q.) MTS @ MasterTech  © @mis-th

\@ Q) 02-756-0000

MASTER TECH & SYSTEMS www.mastertechandsystems.com




Code Size

M3
M4 0.7 7.0 3.2
M5 0.8 8.0 4.0
M6 1.0 10.0 5.0
M8 1.25 12.0 6.5
M10 1.5 17.0 8.0
M12 1.75 19.0 10.0
M14 2.0 22.0 11.0
M16 2.0 24.0 13.0
- M18 2.5 27.0 15.0
| NUT M20 2.5 30.0 16.0
7/ M22 2.5 32.0 18.0
-Zz' M24 3.0 36.0 19.0
M27 3.0 41.0 22.0

m S
— le of M30 35 46.0 24.0
M33 35 50.0 26.0
Code NUT M36 4.0 55.0 29.0
Material SCM435 Ma2 4.5 65.0 34.0
Order Code Size mag >.0 /5.0 38.0
NUT Moo M4s8 3.0 75.0 38.0

Set Screws donuouida (MSW)J)

Size 3mm4mm5mm6mm 8 mm 10 mm 12 mm 14 mm 16 mm 20 mm
P 0.5 0.7 0.8 1.0 1.25 1.5 1.75 2.0 2.0 2.5

J:uo 1.5 2.0 2.5 3.0 4.0 5.0 6.0 6.0 8.0 10.0

10 mm
12 mm
15 mm
20 mm
25 mm
30 mm
MSwJ 35 mm
40 mm
45 mm
50 mm
55 mm
60 mm
65 mm
70 mm
75 mm .
80 mm
90 mm
100 mm
110 mm
120 mm

Code MSWJ Order Code Size
[\ EYCTRE] SCM435 MSWJ) 3 x 6

0 MasterTech @ @mts-th y/ N

B MTS

www.mastertechandsystems.com ‘«» MASTER TECH & SYSTEMS

Q) 02-756-0000




Dowel Pins
lavawuuuuau (MS)

[ R=D 4 =]
\ g
L
COde_ MS Order Code D x L
Material SuUJ2 MS 10 x 80
Hardness 58 HRC ~
3 10 15 20 25 30 40 1
4 10 15 20 25 30 35 40 45 50 15
5 10 15 20 25 30 35 40 45 50 ’
MS 6 10 15 20 25 30 35 40 45 50 55 60 2
8 10 15 20 25 30 35 40 45 50 55 60 70 80 2.5
10 15 20 25 30 35 40 45 50 55 60 70 80 3
12 20 25 30 35 40 45 50 55 60 70 80 3.5

Dowel Pins lawawuuuuinago (MSTH)

Mx P Airvent
/) 15
— | |
——- : =
e 0,
COde. VITH Order Code D x L
Material SuUJ2 MSTH 10 x 80
Hardness 58 HRC ~
M x P e L
5 0 1.5 03 3x0.5 6 |10 15 20 25 30
6 -0.012 5 ' 4x0.7 g 15 20 25 30 35 40 45 50
8 0 05 5x0.8 15 20 25 30 35 40 45 50 55 60 70 80
10 -0.015 ' %10 10 20 25 30 35 40 45 50 55 60 70 80
MSTH 12 o 2.5 1 : 20 25 30 35 40 45 50 55 60 70 80
13 40 50 60 70 80
0.018
16 8x1.25 1 15 40 50 60 70 80
0 3 15
20 e 10x15 | 18 50 60 70 80

(@) MTS @ MasterTech  © @mis-th

NP MASTER TCH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




Ball Plugers
nauauydsv (BPJ / BSJ)

¢

Order Code M x L
Code. BPJ /BS) BP) M4 x 80
Material SCM435 /SUS304 BSJ M4

Spacer

M x
d /J e
] ‘ﬂ;i =
= -4
1 ™~
T
_Is|. Le _
Code M MxP d ) B L
M4 4x0.7 2.5 1 2 9
M5 5x0.8 3 1 2.5 12
BP) M6 6x1.0 3.5 1.2 3 13
BS) M8 8x1.25 5 1.8 4 15
M10 10x 1.5 6 2 5 16
M12 12 x1.75 8 3 6 20
M16 16x2.0 9.5 3 8 25

© MasterTech @@mts-th (@) MTS

www.mastertechandsystems.com N7 MASTER TECH & SYSTEMS

Q) 02-756-0000




Kudawwardiusosu

Linear Rods




Silver Steel Rod
iwaidusuy SK4 Tusu (SK4-G)

owmuheundu 2 was

D Tolerance h7 L D Tolerance h7 L
1.5 15
2 0 16 0
2.5 -0.010 17 -0.018
3 18 ——
3.5 19
445 0 20
E.'> -0.012 22 0 =
6 2000 ;: -0.021 2000 ' o
7
. o 28 »> //
9 -0.015 30
10 32
11 35 0
40
12 0 -0.025 Grade SK4
12.7 -0.018 45 LT
12 50 vuaavua 15 - 50 vu.
wguinsa Equivalent dounaumvolail (Chemical Composition) Hardness
Grade JIS AlSI C Si Mn P Ni Cr
150-250 HV
SK4 SK95 W1-9 0.90-1.00 <0.35 0.60-0.85 <0.30 <0.25 <0.20

Meterial: SK4 Tolerance: h7 Hardness: 150 - 250 HV

Grinding Rod wwawdgsue S45C Tuuu (S45C-G)
aalacmuAdueDBVIU

D Tolerance L
8 0
10 (h7) -0.015
12 0
15 (h7) -0.018
16
20
0
25 (h7) 9021 |100-3000
30
35 ) 0
40 0.025
45
50 0 Grade S45C
55 (h8) yunadvoud 8 - 60 uu.
-0.046
60
wguinsa Equivalent dounaumvoiail (Chemical Composition) Hardness
Grade AISI DIN C Si Mn P S Cr
210-220 HB
S45C 1045 CK45 0.42-0.48 | 0.15-0.35 0.6-0.90 <0.30 <0.35 <0.20

Meterial: S45C Tolerance: h7 / h8 Hardness: 210 - 220 HB

© Mastertech  © @mts-th (@} MTS

www.mastertechandsystems.com N7 MASTER TECH & SYSTEMS

Q) 02-756-0000

Linear Rods | 7



spoy Jpaul

Grinding Rod
iwadusuy SCM440 (SCM440-G)

AaalamuaugDBVIU

D) Tolerance L
0
16 (h7)
-0.018
20
0
h7
2> (h7) -0.021
2(5’ - 100 - 3000
(h7)
40 -0.025
50 0
55 (h8) . 0ae Grade SCM440
60 yunadvoud 16 - 60 V.
wiguinsa Equivalent dounaumoiail (Chemical Composition) Hardness
Grade AlSI DIN c Si Mn P S cr
255 HB MAX
SCM440 4140 1.7225 0.38-0.43 | 0.15-0.35 | 0.60-0.90 <0.30 <0.30 0.90-1.20

Material: SCM440 Tolerance: h7 / h8 Hardness: 255 HB MAX

Hardchrome Rod wwaonsalasu S45C (S45C-HC)

aalamuaUgIDIBVIU

D Tolerance f8 L D Tolerance f8 L
6 -0.010 100 - 3000 35
-0.028 38
8 -0.013 38.1(11/2") -0.025
10 -0.035 40 -0.064
12 45
12.7 (1/2") I D B g
13 508(2") | || e
14 -0.016 55
15 -0.043 56
16 60
17 100 - 3500 65 -0.030
-0.076 100 - 6000
18 70 i
19 75 PO
19.05 (3/4") 76.2 (3") '.-;.1 i
20 80 “*5
22 -0.020 85
25 -0.053 90
25.4(1") 95 :g:g:g Gradeh S45C
28 100 yuradvouc 6 - 150 vu.
30 120
3 -0.025 100 - 6000 125 -0.043
-0.064 150 -0.106

Material: S45C Tolerance: f8 Surface Hardness: HV 850 min
Hardchrome Thickness: 25 Micron min

(@} MTS @ MasterTech  © @mis-th

NP MASTER TCH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000



Shaft
iwaansalasu sULdvAd SUJ2 (SUJ2-HC)

aalamuaUgDBVIU

D Tolerance g6 L D Tolerance g6
8 -0.005 40
10 -0.014 a5 -0.009
-0.025

12 50
12 -0.006 55
e -0.017 100 - 3500 60
18 65 -0.010 100 - 6000
= oo 70 -0.029

-0. 75
25
0 -0.020 30

- -0.012
35 g'ggz 100 - 3000 100 e

i - Grade SUJ2

yuradvotuc 8 - 100 uu.

Material: SUJ2 Tolerance: g6 Surface Hardness: HRC 60*2

Hardchrome Thickness: 25 Micron min

Depth of Effective Hardened Layer: Dia 8-30 mm 1.0-25 mm
Dia 30 mm Up 1.0-3.0 mm

(2]
-
O
oZ
-
O
o
c
.:

© MasterTech @@mts-th (@) MTS

www.mastertechandsystems.com NP MASTER TECH & SYSTEMS

Q) 02-756-0000




Centerless Grinding Bar
Iwardusugauautad SUS303 (SUS303-G)

Dia 3-10 vu. Dia 11-24 uwu.
(®mnusuntdu 2.5 was) (dalamuadwendlBovu)
D Tolerance h7 L D Tolerance h7 L
4 0 11
-0.010 12
4 13
5 0 14 0
-0.012
6 2500 15 -0.018
7 16 100 - 2500
8 0 17
9 -0.015 18
10 20 0
22 -0.021
24 : Grade SUS303

yuadoud 3 - 24 vu.

Material: SUS303 Tolerance: h7

Centerless Grinding Bar
Iwaldgsusauautad SUS304 (SUS304-G)

AaalaoundugdBvIU

D Tolerance h7 L
25 0
30 -0.021
35
100 - 3000
E 40 0
B 45 -0.025
50

Grade SUS304

yuradvoud 25 - 50 vu.

Material: SUS304 Tolerance: h7

spoy Jpaul

(@) MTS @ MasterTech  © @mis-th

NP MASTER TCH & SYSTEMS www.mastertechandsystems.com

Q) 02-756-0000




	Frist Page
	index
	A | Standard Components for Plastic Mold
	B | Standard Components for Press Dies
	C | Die Springs
	D |  Screws
	E | Linear Rods



